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1. Immediately fill the particulars on this page of the Test
Booklet with Blue / Black Ball Point Pen. Use of pencil is
strictly prohibited.
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2. The Answer Sheet is kept inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully.
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3. The test is of 3 hours duration.
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4. The Test Booklet consists of 180 questions. The maximum
marks are 720.

439 gda1 giasT § 180 weH B | AfTHAH fd 720 B |

5. There are three parts in the question paper A, B, C
consisting of Chemistry (45), Physics (45) and Biology
(90) questions. Each question is allotted 4 (four) marks for
correct response.

5. 39 Qa1 gRaHT § A 917 A, B, C B | f99D wedF Wi A
wrA Rgm (45), «ifds fagm (45), Td <fla [=wE (90)
g7q 2| R 9l wedl & o WHM 2| g-¥P U & 9Ll
SR @ fav4 (AR) e fHuiRa 63 ™ 7

6. Candidates will be awarded marks as stated above in
Instructions No. 5 for correct response of each question. %
[one fourth (-1)] marks will be deducted for indicating
incorrect response of each question. No deduction from the
total score will be made if no response is indicated for an
item in the answer sheet.

6. TRfA BT y_P FE S & Iy SWied AdeH d'=ar 5
3 FAdymErR A R AN | 9dS 93T & Tad IR B
fad vt v (-1) @ faor s afk W gRawr 4
el ued ®1 SR A8 Rar w1 81 @1 A uid 9 B
et T8 f5 SR

7. There is only one correct response for each question. Filling
up more than one response in any question will be treated
as wrong response and marks for wrong response will be
deducted accordingly as perinstructions 6 above.

7.90® 939 BT dad UH B W8l SR 2] TP | 3Ifd S
29 U SW TAd ST AFET SR IR SWIF I 6 B
AR 3 HIe foad SR |

Filling the Top-half of the OMR :

Use only Blue/Black ball point pen only for filling the
OMR. Do notuse Gel / Ink/ Felt pen as it might smudge
the OMR.

ITAIR (OMR)  HuH-3rd RW 71 4vE :
OMR &1 ¥4 & fau daa fa/w<@ diad 99 $1 STAT
HIfIT]

8. Write your Roll no. in the boxes given at the top left corner of
your OMR with blue/black ball point pen. Also, darken the
corresponding bubbles with Blue/Black ball point pen only.
Also fill your roll no on the back side of your OMR in the
space provided (if the OMR is both side printed).

8. OMR & 9sd W 9@ &I # fau 7v siew § au+r Jof
¥R N /Bt dicd ug=e 9 Rifee qen v Mo W dad
A/®rd 99 F 4RI OMR & NV F 93w ff JyAT1 oA
FxY fafyy (@ OMR 91 avw vl g8 T)).

9. Fill your Paper Code as mentioned on the Test Paper and
darken the corresponding bubble with Blue/Black ball point
pen.

9.OMR W U1 Yux ®re fIfRay qem Fud el &1 Nl /Brad
9fct 99 @ B BNV |

10. If student does not fill his/her roll no. and paper code
correctly and properly, then his/her marks will not be
displayed.

10 afe fageff sruar @ F=I qUT vIR Bre D AR SfEd
adie T8 9xar ® 99 S¥H1 uRu™ e faar SEm

11.Since it is not possible to erase and correct pen filled

bubble, you are advised to be extremely careful while
darken the bubble corresponding to your answer.

1. 9% 99 9 Y U Mo fAemr sy gurar @va T8 2
g9fery g WraEen yde ud SR B Ml Bl W |

12.Neither try to erase / rub / scratch the option nor make the
Cross (X) mark on the option once filled. Do not scribble,
smudge, cut, tear, or wrinkle the OMR. Do not put any stray
marks or whitener anywhere on the OMR.

12.%eu &1 9 AeN/9 Y39 B3 MR T & Tad (X) g a7
TR | OMR &Y 12 7 & ®BIs 9 & 7=l A8l #3 e &ig
feme 91 9% OMR W 81 aMY|

13.If there is any discrepancy between the written data and the
bubbled data in your OMR, the bubbled data will be taken as
final.

13. I} OMR # fHlt TR &1 R 1T ariwst don Mer fHy Aiwel
H fREME & a1 e fBU sfimet o1 & [ A1 ST |
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Choose the correct (V') answer:
1.

The volume (V) of a monatomic gas varies with its| 1.

temperature (T), as shown in the graph. The ratio of |
work done by the gas, to the heat absorbed by it, when |
it undergoes a change from state A to state B, is |

v

i B
A

(0] —>T

(1)

(3)

©
NN WIN

The fundamental frequency in an open organ pipe is| 2,

equal to the third harmonic of a closed organ pipe. If|
|

the length of the closed organ pipe is 20 cm, the length |

of the open organ pipe is
(1) 12.5cm

|
(2) 8cm |
(3) 13.2cm |

(4) 16cm |

At what temperature will the rms speed of oxygen| 3.

molecules become just sufficient for escaping from the |
Earth’s atmosphere?
(Given:

Mass of oxygen molecule (m) = 2.76 x 10-% kg
Boltzmann’s constant k, = 1.38 x 102 JK™")

(1) 5.016 x 10*K (2) 8.360 x 10*K

(3) 2.508 x 10K (4) 1.254 x 10*K

The efficiency of an ideal heat engine working between | 4

|

|

|

|

|

|

|

|

the freezing point and boiling point of water, is |
(1) 6.25% (2) 20% I
(3) 26.8% 4) 12.5% |
|

|

|

|

|

|

|

|

|

A carbon resistor of (47 + 4.7) kQ is to be marked with ! 5

rings of different colours for its identification. The colour
code sequence will be
(1) Yellow— Green — Violet — Gold
2) Yellow— Violet —Orange — Silver
3) Violet - Yellow — Orange — Silver
(4) Green-Orange — Violet—Gold

| €l STR BT A (V) BN

el TpwRATs 1 B Ed (V) | dM (T) & arT
fe=Ror U1 # <RIy SgAR BIdT © | 37T A X 37aRelT B
T S 1 Ulshar H 3149 g1 {6y T BRi 3R 59 gIRT

SR ST BT AU 2

v
) B
A
0 — T
1 2
(10 3 (2 3
2 2
@) 5 4) 7

fpY <get ST TSy &1 et gy b=l g5 3if ursy
S A TEIERT (FA1E) B AERT & 99 2 | Ak 9=
AR 418y @1 oFTs 20 cm 8, A1 Qo iR 18y &l
oTHTg B

(1) 12.5cm (2) 8cm

(3) 13.2cm (4) 16cm

Pl AT WR SiTRATST TIRHT BT 9 A JA (rms) AT
ged] & ATGAvSH H Yl BR Fhl & oIy A1 A &
STEfi?

(feam am 2 -

JATRATSTT & 9] BT TIHH (M) = 2.76 x 102 kg
dieco Rerie k= 1.38 x 102 JK)

(1) 5.016 x 10°K (2) 8.360 x 10K

(3) 2.508 x 10*K (4) 1.254 x 10K

STl @ D AR TS & 9 HrRiRa fhdl e
AT SO BT eIl Bl §

(1) 6.25% 2) 20%

(3) 26.8% 4) 12.5%

(47 +4.7) kQ ufeRIg & fohefl HrdT—vfoRee R, Uga
% fog, fafi=1 auif & ae sifdra fasg o= 2 | avf re @1
¥ BT

(1) drel — 81— ST — st

(2) dre — S — AR — AT T @

(3) & — G AR — =TT 7 @
(

4) B — AR — T — GAENT
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6.

|
A set of ‘n’ equal resistors, of value ‘R’ each,are| 6.

connected in series to a battery of emf ‘E’ and internal |
resistance ‘R’. The current drawn is 1. Now, the ‘n’|
resistors are connected in parallel to the same battery. |
Then the current drawn from battery becomes 10 1.
The value of'n’ is

(1) 20 2 M1

|
|
|
|
3) 10 @) 9 |

A battery consists of a variable number ‘n’ of identical | 7.

cells (having internal resistance ‘r’ each) which are:
connected in series. The terminals of the battery are |
short-circuited and the current I is measured. Which of I

the graphs shows the correct relationship between I|

andn?
I I
(1) f ) !

(3)

ot—————— (0]
—»n —>n

|
|
|
|
|
0 O A |
|
|
|
|
|
|
Unpolarised light is incident from air on a plane surface
of a material of refractive index ‘w’. At a particular angle |
of incidence 7, itis found that the reflected and refracted |
rays are perpendicular to each other. Which of the]|

following options is correct for this situation? |

(1) i=sin” [lj
n

(2) Reflected lightis polarised with its electric vector
perpendicular to the plane of incidence

(3) Reflected light is polarised with its electric vector
parallel to the plane of incidence

. 1
=tan™'| —
4) i=tan [“j

‘0’ FaFH URREDT B Ao, foH 9od &l Uik ‘R’
2, oofiee & faarager (emf) ‘E’ 31R 3m=<IR& iR ‘R’
P T I FARTT I e T N 7€ uRT 12 | 379 3
‘N UfRIIRT B ured % § gl ded § dafa faar
ST & | AT 92 9 & T gRT 10 181 ATH 8 | ’n’ &l 714
2

(1) 20
3) 10 4) 9

Pl dcI INdR® UfaRie v arel, Sofisps & g, 'n'
AAEH el (F=AT n URTdl 8) F 1 & | 921 & <fidar
BT AU PR GRT LA T 8 | f&dT 71 BI—1 UTh

[3R n & I FeT HdeT Bl T 82
I 1
(1) f 2) f
O — 1 O — 1N

f @ |

o————m———- (0}
—»n —>n

3)

JUgciID ‘W dTet Teref & B FHTd IS W PIg fgfdd
YebT2T a1y JATAT bRall & | bl faey o ivr i R
I8 U T {5 uRTafi fohvot ol sruafida fhvol gah—gar
@ ofrgaq ® | el # & div—w1 fawey s Rerfa #
L 87

(1) i=sin” [lj
n

(2) uRTafclT yepTer gfad € SR w1 fagra Al smua
D T B oFaq &

(3) uRTafc uepTer gfdd € SR s¥hT fagyq Al smua
& TA B TR B

. 1
=tan™'| —
4) i=tan [“j
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9.

10.

1.

12.

13.

14.

In Young’s double slit experiment the separation d, 9.

between the slits is 2 mm, the wavelength A of the light |
used is 5896 A and distance D between the screen |
and slits is100 cm. It is found that the angular width of |
the fringes is 0.20°. To increase the fringe angular width |
to 0.21° (with same A and D) the separation between |
the slits needs to be changed to

(1) 2.1mm (2) 1.9mm I
(3) 1.8mm 4) 1.7mm |

An astronomical refracting telescope will have large | 10.

angular magnification and high angular resolution, when |
it has an objective lens of |
(1) large focal length and large diameter

(2) large focal length and small diameter
(38) small focal length and large diameter
(4) small focal length and small diameter

The ratio of kinetic energy to the total energy of an| 1.

electron in a Bohr orbit of the hydrogen atom, is |
(1) 2:-1 2) 1:-1 |
3) 1:1 @) 1:-2 |

An electron of mass m with an initial velocity| 12

V =V,i(V, > 0) enters an electric field E=E,i |
(E, = constant > 0) att = 0. If &, is its de-Broglie |
wavelength initially, then its de- Broglie wavelength at |
timetis

(1) At (2)x0[1 + rif,‘; t]

A

ek,
) [‘I+mvot]

@ X

For a radioactive material, half-life is 10 minutes. If| 13.

initially there are 600 number of nuclei, the time taken |
(in minutes) for the disintegration of 450 nuclei is |
(1) 30 2 10
(3) 20 4) 15

frequency), is incident on a metalplate, the maximum

velocity of electronsemitted is v,. When the frequency |
of the incident radiation is increased to 5v,, the|
maximum velocity of electrons emitted from the same |
plateisv,. Theratioof v, to v, is |
1) 4:1 @ 1:4 |

@) 1:2 @) 2:1 I

|

|
When the light of frequency 2v, (where v, is threshold I 14

|

AT & et wamT #, f31R3T & drer gared=1 d, 2 mm 8 qen
31 & ud @ g0 D B 100 cm Y& Y AR
A = 5896 A & UHTT BT SUANT faa AT B | I U TR
& el @ wofrr Aierg 0.20028 | 9 (STEIAFRD &
forg) fibsit @1 wIofia dlers & deTax 0.21° a5+ & forg

IRl & 1= & gore Pl AT BT
(1) 2.1mm (2) 1.9mm
(3) 1.8mm 4) 1.7mm

PR TR JTUaRdl SRERI® Bl HIUNY e AAH 3R
Hofia e Sea 8T, Al 59a SIfgwad o) 3
(1) ®IeHd G2 31feId 3R &N 99T §

2) wiHa T 31w iR @4 BieT @

(3) WIHA T FHH AR I I 7

4) HIHd 0 B AR AN BITT ©

BISeio URATY BI fBAl IR Fer # Bl serag = @l

ST Sl 3R D! ol FHoll BT AU BIdiTo

(1) 2:-1 2 1:-1

@ 1:1 @) 1:-2

IR a7V =V,i(V, > 0) 3R T&AF m &I BIg
gaag fbel fg—am E=E,i (E, = Reri® > 0) #
t=0TR Uger a1 & AT YRR H 3 geldsa Bl
S—giell ARl A, €, A AT t W gD ATl
aRiresd gnft

ek,
o (2) 7‘0[1 " mV, t]

@) [‘I+8E°t]

mV,
el Mfeafaca uerel o ar—amyg 10 e 2 | afe s
H T1fYeRT @1 H=AT 600 7, AT 450 A1 @ faafed 8 #
T g1l Ry (fAee #) ®
(1) 30 2) 10
3) 20 4) 15
519 Y o1g & S TR SMgRT 2v, (T v, IEel IMRT 2)
T JhTeT MY HRAT B, T ST Seidei=l BT ffShdH
APV, 8 | 5Td Arafcre fafbror @1 SgRi geredr Sy, b <
ST 2, A1 S U8 A IAId Setag il $T iferadad av
v, BT & v, 3R v, T 3uId &
(1) 4:1 2) 1:4
@) 1:2 @) 2:1

@ X
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15.  In the circuit shown in the figure, the input voltage V. is 15, fag 17 aRuey s #, @ dieedr (V) 20V, V= 0 den

16.

17.

18.

19.

20V,V . =0andV_=0.The valuesof I_,I_and  are |
given by

20V

(1) I,=20pA, I,=5mA, =250

(2) I,=25pA, I,=5mA, =200

(3) I,=40pA I.=10mA, =250

(4) I,=40pA I.=5mA,B=125

In a p-n junction diode, change in temperature due to
heating

(1) Does not affect resistance of p-n junction

(2) Affects only forward resistance
(3) Affects only reverse resistance
(

|
|
|
4) Affects the overall V-1 characteristics of p-n |
junction |

In the combination of the following gates the output Y |
|

|

|

|

|

|

|

|

|

can be written in terms of inputs A and B as

A
Be—
Y
(1) AB+A-B 2 A-B+A-B
3 AB @) A+B

An em wave is propagating in a medium with a velocity |

V = Vi. The instantaneous oscillating electric field of |
this em wave is along +y axis. Then the direction of |
oscillating magnetic field of the em wave will be along |
(2) +zdirection |
(4) —xdirection |

(1) —ydirection
(38) —zdirection
The refractive index of the material of a prism is /2

and the angle of the prism is 30°.0One of the two|
refracting surfaces of the prism is made a mirror
inwards, by silver coating. Abeam of monochromatic|
light entering the prism from the other face will retrace |
its path (after reflection from the silvered surface) if its |
angle of incidence on the prism is

(1) 30° 2) 45° |
(3) 60° (4) Zero |

16.
17.

18.

| 19.

V=081, 1, 3Rps A &t
20V

(1) 1,=20 pA, I_=5mA, p = 250
(2) 1,=25pA, 1_=5mA, = 200

(3) 1,=40 pA, I_= 10 mA, B = 250

(4) 1,=40pA I_=5mA, B =125

¥ p-n AT ST # TH B9 & a9 # gRaadd
(1) p-n Y & YRR BT FITIT & FRaT © |
(2) ®act 3T URRI BT yHIfad Hxar ¢ |

~

(3) Fad gepd (Rad) Uik &I ywTfad &var © |

(@) p-n e & FHT V-1 IMAETOT BT YA Bxall 2 |
o # fag v et & Haree # frfa Y & o AR B
® Yal H 39 UBR Fad 61 I Fahdl @

A
Be—
Y
(1) AB+A-B 2 A-B+A-B
3 AB @) A+B

BIE FIRg—graaig auT fovil /e § T V = Vi 9 e
IR & 2 | fHd a1 g9 faea—graara o< @1 faga—ea
JI +y 38T & SR 2 | 79 39 faea—geag O &
DI &3 Qe Bl o= gl

(1) -y faen (2) +zfaem

(3) —zfa=m (4) —x fa=m

30° 2| {59 & <1 aruadds gl # | U &l dfal aerdx
IR T 3R U ST 1T € | TIN BeAd H TIT B
qrel UHgUi GebTRT BT BIg Yol (SUOT dTel Y 3 URTfcrd
B & TeETq) Sl U UR 9199 die SITe, afg fien )
3IIT IV HT AT B
(1) 30°

(3) 60°

(2) 45°
(4) T
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20.

21.

22,

23.

24,

An object is placed at a distance of 40 cm from aI 20. @S fI9 15 cm BIHd S & [0 faddt SUoT § 40 cm

concave mirror of focal length 15 cm. If the object iS|
displaced through a distance of 20 cm towards the |
mirror, the displacement of the image will be |
(1) 30 cm towards the mirror |
(2) 36 cm away from the mirror |
(3) 30 cm away from the mirror |
(4) 36 cm towards the mirror I

The magnetic potential energy stored in a certain| 21.

inductor is 25 mJ, when the current in the inductor iS|
60 mA. This inductor is of inductance |
(1) 1.389H (2) 138.88H |
(3) 0.138H (4) 13.89H |

An electron falls from rest through a vertical distance h | 22,

in a uniform and vertically upward directed electric field
E. The direction of electric field is now reversed, keeping |
its magnitude the same. A proton is allowed to fall from |
rest in it through the same vertical distance h. The time |
of fall of the electron, in comparison to the time of fall |
of the proton is |
(1) 10times greater (2) 5times greater |
(3) smaller (4) equal |

The electrostatic force between the metal plates of an | 23.

isolated parallel plate capacitor C having a charge Q |
and area A, is |

(1) proportional to the square root of the distance |
between the plates |

(2) linearly proportional to the distance between the |
plates |

(3) independent of the distance between the plates I
|

(4) inversely proportional to the distance between
the plates

A tuning fork is used to produce resonance in a glass | 24,

tube. The length of the air column in this tube can be |
adjusted by a variable piston. At room temperature of |
27°C two successive resonances are produced at 20 |
cm and 73 cm of column Iength. If the frequency of the |
tuning fork is 320 Hz, the velocity of sound in air at|
27°Cis |
(1) 350m/s |
2) 339m/s |
(3) 330m/s I
(4) 300m/s |

|

R Rera 7 | At 39 39 &1 g7 & fI=m # 20 cm
IR &R 3T S, a1 wicfew farae 0 W favenfua
BT SITQT?

(1) 30 cm TUoT & Ui

(2) 36 cm TUT H T

(3) 30 cm TUT W

(4) 36cm U & 9N

¥l IR I 60 MA @1 IRT YATfRd HR TR 9 IRdb H
e graara Rerferst SHoif &1 719 25 mJ B | 39 IR 6T
IR &

(1) 1.389H (2) 138.88H

(3) 0.138H (4) 13.89H

BIS Solagld faRmHTaRe W bl Vb HHM T2l SR Bl
FeaeR fagq—e= EH @15 41 8 g9, h fRar g1 3@
faggc—era @1 uiRaT uRafid e gu s faen Sepfid
PR & ST 2| fRl Wie @y faRmaRen | sae &
FHER T hddh s8¢ AR & Sran 2 | 9iei= & (A
% foTg Y 9 &1 oA H gelde = gRT AR 4 foram
g ?

(1) 10 7T e
3) ®4

(2) 5 3HferD
(4) |E=

TR Q & AT g AR ufeaht AR C B &rshd
ATTell a1g @I ufgdil & 9 ReR—dgd ad

(1) ufe@rei & dra o g & T & STgHHIguR BT B |
(2) ufeamil & 9 & g @ WRaad: STHATGURN BIaT 2
(3) ufedmei & 9 o g W R T8 Fvar |

(4) ufEPRIl & 99 P g P JHATGURN BT B

et TR fgyot &1 ST fadl Ot wta & wforar #
AT T~ BRI B fory fobam T &, Ford arg w1
TS BT aRadT e gRT GHrRfSTa fhar S Fhdr 2 |
27°C &l 1Y IR &I 1 oiw g 20 cm 3R 73 cm 81 IR
31 AN SIS S~ BId & | Ife R fgyst @1 amghr

320 Hz &, 1 a1g # & $T 27°C R 97T &

(1) 350m/s
(2) 339m/s
(3) 330m/s
(4) 300m/s
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25.

26.

27.

28.

29.

A pendulum is hung from the roof of a sufficiently high | 25. DIS dlctd Uh BB $d Y- Pl Bd I dIchl 8 3R Rl

building and is moving freely to and fro like a simple
harmonic oscillator. The acceleration of the bob of the |
pendulum is 20 m/s? at a distance of 5 m from the |
mean position. The time period of oscillation is |
(1) 2s 2) s |
3) 2ns @) 1s I

A metallic rod of mass per unit length 0.5 kg m~’ is| 26.

lying horizontally on a smooth inclined plane which|
makes an angle of 30°with the horizontal. The rod is |
not allowed to slide down by flowing a current through |
it when a magnetic field of induction 0.25 T is acting on

it in the vertical direction. The current flowing in the rod |
to keep it stationary is

(1) 14.76A
3) 7.14A

|
(2) 5.98A I
4) 11.32A |

A thin diamagnetic rod is placed vertically between the | 27.

poles of an electromagnet. When the current in the|
electromagnet is switched on, then the diamagnetic|
rod is pushed up, out of the horizontal magnetic field. |
Hence the rod gains gravitational potential energy. The |
work required to do this comes from |

) the lattice structure of the material of the rod

~

the magnetic field

the current source

~

(1
2
3
(4

) theinduced electric field due to the changing

magnetic field

An inductor 20 mH, a capacitor 100 uF and a resistor| 28.

50Q are connected in series across a source of emf, V |
=10sin 314 t. The power loss in the circuit is |
(1) 2.74W (2) 0.43W |

|
(3) 0.79W 4) 1.13W |

Current sensitivity of a moving coil galvanometer is| 29.

5div/imA and its voltage sensitivity (angular deflection
per unit voltage applied) is 20 div/V. The resistance of |
the galvanometer is
(1) 250Q

2 250
(3) 40Q
(

|
|
|
|
|
4) 500 Q |
|

AT QI D1 [T Jad U A IRT—UTS T B T 6 |
A Rafd § 5 m @ g W THb MAD B @RI
20 m/s?® | QI & JAMIAHIA 2 |

(1) 2s @) ns

3) 2ns @) 1s

0.5 kg m~' Ul SPTg IS S Bl fhl a7 @l &fit
B DI TP Udh- AT T TR Sl st 3 30° BT DI
AT 8, 3T AT 2 | $9 B DI 394 [Ag[q URT vz
FRIBR A1 TRB el AT ST 919 39 W 0.25 T IR
1 b1 &7 FeAleR e # Bl B VT & | TS Bl ReR

G $ foru s yarfRd uRT 8
(1) 14.76A ) 5.98A
3) 7.14A 4) 11.32A

el fagra—gma & gai & 9= ufrgear garef o ta
Tell Be Searr Rerd ¢ | 59 fAga—gre # urT yarfed
DI S B, 1 98 TS Alfcrol Jrabid &3 I R HW DIl
gbel 41 Sl € | 39 YHR I8 B8 Tohcdld ReIferst ol
T R & | VAT B & oI 1maed s a1 Fxar 2

(1) Bs & gt B ATeaid Ha-T

() gD e

(3) fagge

(4) IRq faga—e= A o aRadt g & | I
BT 2

20 mH &1 BIE IR 100 uF &7 HIs FETRA qAT 50Q BT

P13 Uik, faaraet (emf), V=10 sin 314 t & f&A0 =a

A Aol # G 8 | 39 uRuer oI g @

(1) 2.74W 2) 0.43W

3) 0.79W @) 1.13W

Bl =T usel! TedmIHIeR & gRT gaTiear 5 div/mA 3iR

dieedT gITiedT (UG SIS dieedl § Ica~ BIvil fae)

20 div/V | 9 T IeR &1 Uik &

(1) 250 Q

2) 250
(3) 400
(4) 500 Q
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30.

31.

32.

33.

34.

L L L | B
A body initially at rest and sliding along a frlctlonless| 30. 3@ { <9Iiv ITAR TS h ¥ g¥URied 9 & aﬂﬁrﬂ

track from a height h (as shown in the figure) just|
completes a vertical circle of diameter AB = D. The|
height h is equal to

— —>,
w

A
7
(1) &P @ D
® 30 @ 2D

Three objects, A : (a solid sphere), B : (a thin circular
disk) and C : (a circular ring), each have the same
mass M and radius R. They all spin with the same |
angular speed o about their own symmetry axes. The |
amounts of work (W) required to bring them to rest, |
would satisfy the relation |
(1) W,>W,>W, 2 W,>W,>W, |
) W,>W,>W, 4 W,>W_>W,_ |
A moving block having mass m, collides with another |
stationary block having mass 4m. The lighter block|
comes to rest after collision. When the initial velocity |

of the lighter block is v, then the value of coefficient of |
restitution (e) will be |
(1) 0.8 (2) 0.25

(3) 0.5 (4) 04

Which one of the following statements is incorrect?

|

|

. . |

(1) Frictional force opposes the relative motion. |
|

|

|

(2) Limiting value of static friction is directly
proportional to normal reaction.

(3) Rolling friction is smaller than sliding friction.

(4) Coefficient of sliding friction has dimensions of length.

A toy car with charge g moves on a frictionless horizontal

plane surface under the influence of a uniform electric|

field E . Due to the force qE , its velocity increases from |
0 to 6 m/s in one second duration. At that instant the |
direction of the field is reversed. The car continues to|
move for two more seconds under the influence of this
field. The average velocity and the average speed of the |
toy car between 0 to 3 seconds are respectively |
(1 1m/s, 3.5m/s (2 1m/s,3m/s |

(3) 2m/s, 4 m/s @) 1.5m/s, 3m/s |
|

foRT 3raReT W WRe el Bis fUvs, I’ AB=D &
SR g B SH—31d T HAT 2 | I9 $31E h 8Rft

T

h B

l

A
7
() D @ D
3
@ D @ 3D

A fUvs, A (Ue 31 TMTe), B : (U Udell JATdbR adhll)
qar C : (Vb JaldhR Beell), RTH I® &1 SIH
M eI 3T R &, 91 BV ATet o 9 39+ FfAf et
% URT: THUT IR T2 | § fORMIaReT § o & forg fhy
ST dTel 3Maead Hrat (W) & folg eia—ar ddy a8 87
1) W,>W,>W_ (2 W,>W_>W,_

B) W, >W,>W, (@) W,>W_>W,

SH M BT b TR JTdbl, 4m S & (B g
ReR o | GO P U Eoobl [Ch] [ARTH e H AT
AT 2 | IS T e BT ARMIDG I v 7, AT IATTIA
O () T AT BT

(1) 0.8 2) 0.25

(3) 05 4) 04
frfaRad # & -1 HUF IITR?

(1) =¥oT gt 3Mufere i BT faxier BT 2 |

(2) &fas gy BT A w99 ifer ufafshar &

STIHATUT BIT 2 |
(3) el e ayur |t avr | HH BIaT 2 |
(4) Y Eor ToTich Y AT TS <Y faRT @ S B §
Pig R &R R R M q & fod v |9\ E
faga—e E & w1a | fbdl gy e &St I W)
TR © | U HhUS & AJ<RI H 9 qE D HROT SHBT
T 0to 6 m/s Bl Il & | ST &fo7 faggd—ara & faum
IHAT R <1 S 2| 39 &F & UMIG H PR SR QT
HHTS qh i BT & & | 0H 3HHvs & §rd Raelim
PR B AT AT 3R AT ATl HHI: B |
(1) 1m/s, 3.5m/s (2) 1 m/s,3 m/s
(3) 2m/s, 4 m/s (4) 1.5m/s, 3 m/s
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35.

36.

37.

38.

A block of mass m is placed on a smooth inclined | 35. A BT O D fvdl frh= 39 a1 ABC UR m ST

wedge ABC of inclination 6 as shown in the figure. The

wedge is given an acceleration ‘a’ towards the right. |
The relation between a and 0 for the block to remain |
stationary on the wedge is |

The moment of the force, F= 4i+5]- 6k at
(2, 0, =3), about the point (2, -2, -2), is given by

(1) -7i-8i-4k
3) -8i-41-7k

(2) —4i-]j-8k
(4) —7i-4]-8k

A |
m |
|
a I
0 R |
C B
g |
= a—=————
(1) a=gcosb ) Sino :
g |
a= =
(3) cos 6c0 (4) a=gtan o6 |
|
|
|
|
|

A student measured the diameter of a small steel ball | 37.

using a screw gauge of least count 0.001 cm. The main |
scale reading is 5 mm and zero of circular scale division I
coincides with 25 divisions above the reference level. If |
screw gauge has a zero error of —0.004 cm, the correct |
diameter of the ball is
(1) 0.053cm

(2) 0.525cm
(3) 0.521cm
(4) 0.529cm
A solid sphere is rotating freely about its symmetry |
axis in free space. The radius of the sphere is increased |
keeping its mass same.Which of the following physical |
quantities would remain constant for the sphere?

(1) Rotational kinetic energy

(2) Moment of inertia

(3) Angular velocity
4

|
|
|
|
|
) Angular momentum |
|
|
|
|
|

|
|
|
|
|
|
| 38

BT HIE A AR ReId €1 39 997 3T TRT 3R BrE
TR 'a' feaT 91T B | i Bl 9w R ReR v & forg
a 3RO P g deer B

A
m

a

e ~

C B

(1) a=gcosb 2 a=—3_

sin®

g
a= =

(3) o5 600 (4) a=gtan 6

75 (2, 0, -3) TR BTG 9 F=4i+5]— 6k @1 g
(2, -2, -2) & URa: Aol BT

(1) —7i-8j-4k 2) —4i-j-8k

(3) -8i—-4j-7k @) —71-4j-8k

bl B3 7 ST B oY e & &A™ 31 419 0.001 cm
JUTHID dTel 3, TS §RT &1 | G YA &1 419 5 mm
3R Tl T BT T A oidel | 25 9T HR 2 | IR
BN H e FfE —0.004 cm 7, AT 1T BT HE AT
BT

(1) 0.053cm

(2) 0.525cm

(3) 0.521cm

(4) 0.529cm

DIS S Tl Jad BT H {U=I FHMAT 31&7 b uRa:
Had wU GO PR 8T & | 39 Tlel Bl GH FH I
BU S9! 351 # gig 1 Il © | et & forg ferferRaa
# A P Hifad fdr Rer @i

(1) =oft it St

(2) TS e

(3) Ivig o

4) BRI HaT
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39.

40.

41.

42,

43.

The kinetic energies of a planet in an elliptical orbitI 39. W & TRI AR eI Fer | A= v B Refera

about the Sun, at positions A, B and C are K, K and |
K., respectively. AC is the major axis and SB is|
perpendicular to AC at the position of the Sun S as|

shown in the figure. Then |
/]L/_\

A\L_/c

(1) Ky <K, <K, (2) K, > K, > K,

) K, <K<K,

If the mass of the Sun were ten times smaller and the |

universal gravitational constant were ten times larger |

in magnitude, which of the following is not correct? |

(1) Time period of a simple pendulum on the Earth
would decrease

(2) Walking on the ground would become more
difficult

(3) Raindrops will fall faster

(4) ‘g’ onthe Earth will not change |

A solid sphere is in rolling motion. In rolling motion a | 41.

body possesses translational kinetic energy (K)) as well |
as rotational kinetic energy (K ) simultaneously. The
ratio K : (K, + K) for the sphere is

(1) 10:7
@ 7:10

2 5:7 I

4) 2:5 |

A small sphere of radius ‘' falls from rest in a viscous | 42.

liquid. As a result, heat is produced due to viscous|
force. The rate of production of heat when the sphere |
attains its terminal velocity, is proportional to
Mm r 2 r

@ r @ r |

|
The power radiated by a black body is P and it radiates | 43.

maximum energy at wavelength, . If the temperature |
of the black body is now changed so that it radiates|

3
maximum energy at wavelength Zko, the power|

radiated by it becomes nP. The value of nis

256 4
(1) 81 2 3
3) ry 4) 256

|
|
|
3 81 I
|
|
|

|
|
|
|
|
|
|
(4) K> K, > K, | 40

A, B3Ik C It Faiit ser: K, K, iR K 8 1 AC <
36T § T I Bl Rerfr SR SB RETgaR <1 31eT AC
WA B | Td

/]L/_\
A\L_/c
(1) K <K, <K, 2K, > K >K_
3) K, <K <K, @)K, > K, > K,

ﬁﬁﬁww%ﬂ?ﬂﬁﬁm SIEIEEARICIEICa
Reries afRATer # 10 1 &1, a1 fr=ferfad d & wl—
| T8 572

(1) Yl R AR Al Pl faciblel HH 8 SITQIT
(2) R R T 37fSB BIST B SIYIT

(3) Iul @I §a &R W AH ol § AT |

4) 9l R ‘g’ S 7 A gRacd T81 8|

TP ORIl dled I # | died T § axg 3
ARG TS FHodt (K) & Ar—AT ol TS Sl
(K) 18Il 81 et & feru K @ (K, + K ) &7 S/gard 8
(1) 10:7 2 5:7

3) 7:10 4) 2:5

3 ‘v &1 B Y e faRmTaRe # {6l v+ ga |
iRdT 2| 99 91 & BRT 399 & Iq~ 8idl 2 | Tl

@ 3ifc (efHFe) I IR S ST B <) AferRad ®
GAEREACG LG RINIRS RIS

(M @ r

@ r 4 r

1 1T gRT fAfaRa wifed P & e I avwaed, A, R
HRpTH Hol AR BT & | 31 Al T4 BIVTehT BT g

qﬁaﬁawﬁmw%‘,ﬁa@ﬁm‘s’%koaﬁﬁw‘w

AT SHoft fAfPRT B B, a1 39 grT fafeRa wifaa
nP 8 ST 8 | n &1 A9 81T

256 4
(1) 81 ) 3

3 81
3) ry 4) 256
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44. Two wires are made of the same material and have the | 44. < IR I S & o+ 2 3R S & a1 99 © | Uged

45.

46.

47.

48.

49.

50.

same volume. The first wire has cross-sectional area A
and the second wire has cross-sectional area 3A. If|
the length of the first wire is increased by A/ on applying |
a force F, how much force is needed to stretch the |
second wire by the same amount? |
(1) 4F (2 6F

(3) 9F @4) F

(1.013 x 10° Nm~) requires 54 cal of heat energy to|
convert to steam at 100°C. If the volume of the steam |
produced is 167.1 cc, the change in internal energy of |
the sample, is |
(1) 42.2J (2) 208.7J |
(3) 104.3J (4) 84.5J I

|
|
A sample of 0.1 g of water at 100°C and normal pressure I 45.

TR &I SIPRI—PIC Bl EHA A IR TER TR DI FPRI—PBIC
BT &% 3A B | IfT 9T F TR U8el dR Bl oTH TS |
Al B gfg B I 2, AT SR AR Bl owrg H A sa
81 gfg PR B Y o ae1 B Araegaar srfl?

(1) 4F (2 6F

3) 9F @4) F

A G (1.013 x 105 Nm2) 3k 100°C a9 &R 0.1 g
S @ LT BT 100°C BI A9 H uRafiia &+ & foy 54
HANT HHT Holl DI JMILAGAT Bl & | TS SO~ AT BT
JMAT 167.1 cc B, A1 S T & TIRS Froft gRac
g

(1) 42.2J
(3) 104.3J

(2) 208.7J
(4) 84.5J

The correct order of N-compounds in its decreasing | 46.  N-JIFTe! H g1 SATRIBRUT RT3 BT Tl AT Ael

order of oxidation states is |
(1) HNO,, NH,CI,NO, N,
(2) HNO,,NO,NH,CI, N,
(3) HNO,, NO,N,, NH,CI
(4) NH,CI,N,, NO, HNO,

MF?~ ion?
1) B 2) Al
(3) Ga @) In

Considering Ellingham diagram, which of the following | 48.

metals can be used to reduce alumina? |
(1) Mg (2) 2n |
(3) Fe 4) Cu |

The correct order of atomic radii in group 13 elements | 49.

IS

(1) B<Ga<Al<TI<In
2) B<Al<Ga<In<Tl
3) B<Al<In<Ga<Tl
(4) B<Ga<Al<In<Tl

halogens?

(1) All but fluorine shows positive oxidation states
(2) All are oxidizing agents

(3) Allform monobasic oxyacids

(4) Chlorine has the highest electron-gain enthalpy

|
|
|
|
|
Which one of the following elements is unable to form | 47,
|
|
|

|
|
|
|
|
Which of the following statements is not true for| 50.
|
|
|
|
|
|
|

HH T |

(1) HNO,,NH,CI,NO, N,

(2) HNO,,NO,NH,CI,N,

(3) HNO,,NO,N,, NH,CI

(4) NH,CI,N,, NO, HNO,

frfoRad % I Sl —A1 T MF2 31 91 H 3Raae]

?

(1) B 2) Al

(3) Ga @) In

Tferer oIRw T &1 # ¥ g¢ fr=forfad # 9 de—=0

g1 B SUANT UGMHAT & 3T H fBa1 1 At 872

(1) Mg 2 2n

(3) Fe 4) Cu

ffoiad 5 | gu 13 & d<al § wRHAvas ol a1

DI HH FEl 87

(1) B<Ga<Al<TI<In

2) B<AI<Ga<In<Tl

3) B<Al<In<Ga<Tl

4) B<Ga<Al<In<Tl

TaArorT @ forg fforRad # & HI—AT B9 I 81 872

(1) TR & 3rTdT T THS ATRITBRUT TRV
ERINES

() T AfRNBRD ARIHHD 2 |

(3) W Udhdt &TRIY iR 37t 991 & |

(4) FANT DI FAMID Selagi= T iy 2 |
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51.

52.

53.

54.

In the structure of CIF,, the number of lone pairs ofI CIF, &1 ¥R H wsd WRATY 'Cl' IR Ubld! JH etdaiHi
electrons on central atom ‘Cl’ is DT A= ©

(1) Four (2) Two (1) IR () ar

(3) One (4) Three 3) TP @) &=

Identify the major products P, Q and R in the following fefoRad arfifshar saen # g Ic1e P, Q 3R R @I
sequence of reactions: EEEIE

Anhydrous
AlCI
@ + CH,CH,CH,Cl ————>
P (i) O,

— 2 _5Q+R

(i) H0'/A

o
@ + CH,CH,CH,Cl ————>
p_ 00

— 2 _5Q+R

(i) H0'/A

R
CH{CH,), OH CH(CHy), OH
(1) ©/ ©/ ,CH,CH(OH)CH, (1) ©/ ©/ ,CH,CH(OH)CH,
CH,CH,CH, COOH CH,CH,CH, COOH
CH,CH,CH, CH,CH,CH,

3) @ @ CH,CH, - OH
OH
CH(CH,),
4) O/ ,@,CH3—CO—CH3

53. fa=faRad § 9 d9—1 AifiTe faex S 997 GehdT 87

3) @ @ CH,CH, - OH
OH
CH(CH,),
) ©/ , , CH,~CO—CH,

Which of the following compounds can form a

zwitterion? (1) S=iIsd 3wt 2) Wiefiass
(1) Benzoic acid (2) Acetanilide N -
(3) Aniline (4) Glycine | ®) @

Regarding cross-linked or network polymers, which of| 54. forfw TG JAAAT SIhH IgAdl & dev H Fr=feriad o

the following statements is incorrect? q PH—GT BT 316 22

(1) Examples are bakelite and melamine.

(1) dbdRe TG HAMA SHD I8 2
(2) They are formed from bi- and tri-functional

2) 3 feforarie wa Bifsarcte @l & Udhead | a9 § |
(3) They contain covalent bonds between various @) ¥ [ gl e ol @ drer e

|
|
|
monomers. I
|
linear polymer chains. I MY BT & |
|
|
|
|
|

(4) 3T IgAD LRI H Tael HEHASTD AT BN & |

(4) They contain strong covalents bonds in their

polymer chains.
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55. Nitration of aniline in strong acidic medium also gives | 55. Ufell9 &1 ATSEIHRUT Uaal AT HIETH H HRe TR

56.

57.

58.

59.

60.

!
o |
m-nitroaniline because |
(1) Inabsence of substituents, nitro group always |

goes to m-position. |

(2) In electrophilic substitution reactions, amino |
group is meta directive. |

(3) In spite of substituents nitro group always goes |
to only m-position. I

(4) Inacidic (strong) medium aniline is present as |
anilinium ion. |
The difference between amylose and amylopectinis |
(1) Amylopectin has 1 — 4 a-linkage and 1— 6 |
B-linkage |

(2) Amylose has 1 — 4 o-linkageand 1 — 6 |
B-linkage I

|

|

(3) Amylopectin has 1 — 4 a-linkage and1 — 6
o-linkage

(4) Amylose is made up of glucose and galactose

A mixture of 2.3 g formic acid and 4.5 g oxalic acid is | 57.

treated with conc. H,SO,. The evolved gaseous mixture |
is passed through KOH pellets. Weight (in g) of the |
remaining product at STP will be |

(1) 2.8 (2) 3.0 |
3 14 4) 44 |
Which of the following oxides is most acidic in nature? | 58.
(1) BaO (2) BeO |
(3) Mgo (4) CaO |

Which oxide of nitrogen is not a common poIIutant| 59.

introduced into the atmosphere both due to natural and
human activity?

(1) NO
(3) NO,

() NO,
(4) NO

The compound A on treatment with Na gives B, and | 60.

with PCI, gives C. B and C react together to give diethyl
ether. A, B and C are in the order
(1)CH,Cl,CH,, C,HOH

2" 6’
(2) C,H, OH, C,H.CI, C,H.ONa
(3) C,H.OH, C,H,, C,H.CI
(4)

26

|
|
|
|
|
|
|
|
|
|
|
|
4)C,H_OH, C,H.ONa, C H.CI I
|
|
|
|
|

56.

m-"Tge el |1 s91dT & Rifd

(1) vfiRermas @) srguRerd # AggT g gorm m-Reafa
TR ST 2 |

(2) SoEEIEl UfoRATu SrfAfdhar H UHHT Fig m-
e 2 |

(3) ufReITu® &1 IURATT & Ira(E ARG FHE THM
m-Re1fi R 8 ST B

4) 3l (yge) Ared H Vel vl aH omas &
w9 H B §

U T vefdeT § fafrar @

(1) VfAeEnfded 1 - 4 o-d99 qAT1- 6 p-9a ©

2) VAEE H1 >4 o-999 TAM1 > 6 p-dg ©
(3) vfAdnfded #1 — 4 o-§e9 9T 1 — 6 a-§e+9

@) VAEE @I Ud Tederd | 41 2

2.3 g BifAe 37t q2T 4.5 g ST 31t 1 A= H,SO,
I fohar dRaM ) Ifta I 3307 B KOH B

cPhel ¥ AR STl 2| STP R 99 8 I Bl IR
(g #)&rm

(1) 2.8 (2 3.0
3 14 4) 44
frforRed # 1 -1 sffarge o1 Faiftids Feia Hepfy 27
(1) BaO (2) BeO
(3) MgO (4) CaO

qrgHSe H Ui Td Aa fhareil aFi 3 AT Aggre
BT DT ATFATSS ARV YG¥dH o1 572

(1) NO 2) NO

2
(3) N,O,

AT AT Na 3 STifshaT eram 1R a8 B <am & @@ PCl,
@ 7T JIfATHAT HRa™ TR a8 C2al 8 | B Yd C a1 &1
|y H AT FHRaM W SRUA $oR U BT © |
A, BTarCHa H ©

1) C,H, Cl, C,H,, C,H,OH
2)
)
)

(4) NO

C,H, OH, C,H.Cl, C,H.ONa
3 2" 6’

(
(
(3) C,H,OH, C,H,, C,H.CI
(4) C,H, OH, C,H.ONa, C.HCl
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61. The compound C_H, undergoes the following reactions: I 61. Us Iffres CH, feaferRaa sifdfebamstl & oivear @ -
C.H, LA A Bulfe g ZniHOl (S | C.H, 3CL/A A Bulfe g ZniHOl (S
The product ‘C’ is I IdrE ‘C'7
(1) 3-bromo-2,4,6-trichlorotoluene | (1) 3-ghq‘r.2,4,6_;13—@ﬂqﬁa@gq
(2) o-bromotoluene | @) o_gﬁmarjg:{
(3) m-bromotoluene I (3) m-IHEIgsT
(4) p-bromotoluene | @) p-aHEeigEd
62. Hydrocarbon (A) reacts with bromine by substitution I 62. TSIHEA (A) S W ufoReud g7 S1fAfehar ava U
to form an alkyl bromide which by Wurtz reaction is| Ufedhel drTSS odl B Sif fb geol siffshar g1 i
converted to gaseous hydrocarbon containing less than | BISeidrad ¥ uR4fid siar & o4 % IR I &9 Hrea
four carbon atoms. (A) is | WRATY | (A) B
(1) CH,—CH, | (1) cH,-CH,
(2) CH,=CH, I (2) CH,=CH,
(3) CH =CH | (3) CH=CH
4) CH, | (4) CH,
63. Which of the following molecules represents the order| 63. fr=iferRad # & e oy # 1§ & <X & wRAMpRT §
of hybridisation sp?, sp?, sp, sp from left to right atoms?| SP?, SP2, Sp, Sp BT TITAT ST &
(1) CH,=CH-CH=CH, | (1) CH,=CH-CH=CH,
(2) CH,=CH-C = CH I (2) CH,=CH-C = CH
(3) HC = C-C = CH | (3) HC =C-C = CH
(4) CH,—CH=CH-CH, I (4) CH,—CH=CH-CH,
64. Which of the following carbocations is expected to be | 64. fr=foRad § W pI—4T BreeraT Fdaifte el sruferd
most stable? 2?
NO, NO, NO, NO,
(1) H>© @ (1) H>© @
Y% Y H Y% Y H
NO, NO, NO, NO,
H. H.
@ ©® @) Y @ ©® @) Y
Y H Y H
65. freferRad @ & gfaRermue! @ — | uvTa & ded | Sia—ar

effect of the substituents? (R = alkyl)
(1) —=NH,>-OR>-F
(2) -=NR,<-OR<-F
(3) —NH,<-OR<-F
(4) —NR,>-OR>-F

|
|
|
|
|
|
|
|
|
|
|
Which of the following is correct with respect to — 1/ 5.
|
|
|
|
|
|
|
|
|
|

[ 272 (R = Vfewmdr)

(1) =NH,>-OR>-F
20 —NR,<-OR<-F
(3) —NH,<-OR<-F
4) —-NR,>-OR>-F
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Date : 06.05.2018 S——
66. In the reaction 66. 39 3rffhar
OH O Na'
OH O Na'
CHO
CHO + CHCl{+ NaOH —»
+ CHCIl;+ NaOH —>
# wftaferd goragieE @

67.

68.

The electrophile involved is

@
(2) Formyl cation (CHO)
@
(3) Dichloromethyl cation [CHCLZJ

!

|

|

|

|

|

|

. |
(1) Dichloromethyl anion (CHCIQ) I
|

|

|

|

(4) Dichlorocarbene (:CCl,) |
|

|

Carboxylic acids have higher boiling points than| ¢7.

aldehydes, ketones and even alcohols of comparable |
molecular mass. Itis due to their
(1) More extensive association of carboxylic acid

via van der Waals force of attraction

(3) Formation of intramolecular H-bonding

|

|

|

|

|

|

(2) Formation of carboxylate ion I
|

|

(4) Formation of intermolecular H-bonding |
|

|

Compound A, C H, O, is found to react with NaOl

8 10

(produced by reacting Y with NaOH) and yields a yellow |
|

precipitate with characteristic smell. A and Y are|

respectively

(1 Q_ |CH —CH; ang L
OH

|
|
|
|
|
@) ©—0H2 _CH,-OHandl, I
|
(3) HBCOCHZ—OH and 1, |
|
|
|
|
|
|

CH,
) cm@ onandl,

| 68.

(1) WWW@H%)

@) Wi g (8HO)

(3) STSITRTIRIG e [8HCL2)

(4) STSFARIBIEH (:CCL)

PrIfATD el B FIUID TGS ANfVadh G dlel

VfeeeTgS!, BT T I8 db b Veblgiall I SR 8l

2| ¥8 fHad HRoT BT 2°

(1) Praifdafcrs el BT 31ftih dH AU drex aled
STBYOT gl o §RT Bl &

(2) FEIfRIE MIF & a7 |
(3) IrNfad BTSgIor 4o g9 |

(4) SRS BISgIoT deH a7+ A

T AiffTeh 8 A, C,H, O Sl fob NaOl (Y @1 3ifdfhar NaOH
BB SR ITAT) 3 IFAHAT B eArerforas e gt e
JANY AT B |ASRY HA: &

1) Q— |CH*CH3 AR,
OH

) ©—0H2 —CH,~OH &R I,
3) H,.C O CH,—OH3IR I,

CH,
) cm@ o3k,
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69.

70.

.

72,

73.

74,

Match the metal ions given in Column I with the spin | 69.

magnetic moments of the ions given in Column II and
assign the correct code :

ColumnI ColumnII
a. Co* i. 8 B.M.
b. Cr* i. /35 B.M.
c. Fe* ji. /3 B.M.
d. Ni# v. /24 B.M.
v. 15 B.M.
a b c d
(1 v i ii iii
2 i ii iii Y
@) v
@) i v i i

Which one of the following ions exhibits d-d transition | 70.

and paramagnetism as well?
(1) MnO;
(3) Cro%-
Iron carbonyl, Fe(CO), is

(1) Trinuclear
(3) Tetranuclear

(2) Cr,03
(4) MnOZ

(2) Mononuclear
(4) Dinuclear

The type of isomerism shown by the complex! 72,

[CoCl,(en),]is
(1) lonization isomerism

(2) Coordination isomerism

(3) Geometrical isomerism

(4) Linkage isomerism |

|
|
|
|
|
|
|
|
|
|
|
|
|
|
we |
\" Il | |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

The geometry and magnetic behaviour of the complex | 73.

[Ni(CO),] are

(1) Square planar geometry and paramagnetic I
(2) Tetrahedral geometry and diamagnetic |
(3) Square planar geometry and diamagnetic |
(4) Tetrahedral geometry and paramagnetic |

Following solutions were prepared by mixing different | 74.

volumes of NaOH and HCI of different concentrations |

60 LM HCI + 40 LMN OH
a.60mL 7, mL7, Na

b. 55 ML HCI + 45 mL -\ NaOH
-99 ML, aET

M M
c.75 ng HCI + 25 mL E NaOH

M M
d. 100 mL = HCI+ 100 mL = NaOH

|
|
|
|
|
|
|
|
|
10 10 I

.

Bic [ H QU MY o1 IRE! T died 114 QU Y 3=l
D THUT FRIDIY AT A ST qoIT el Hava T (fdwe
BN

Bici 1 Bicr 11
a. Co* i. 8 B.M.
b. Cr* i. /35 B.M.
c. Fe* ji. /3 B.M.
d. Nz v. /24 B.M.
v. 15 B.M.
a b ¢ d
(1 v i ii iii
2 i ii iii Y
@ v v i i
@) i v i i

f=flRad § & dIH—AT MM d-d FHHT T2ATAT & =T
A1 8 grIched HI?

(1) MnO; (2) Cr,0%"
(3) Cro% 4) MnOZ
3R Praifet, Fe(CO), &

(1) Bra=s (2) THb=d
3) TTHH=D @) fed=®

Hagel [CoCl,(en),] ERT UeRid FHIEIET BT YHR 8
(1) ST FHEGIIAT

(2) SUHEEIISTT HATIICT

(3) unfacta AATagEar

(4) S g

[Ni(CO),] Siget @1 SuTfAf vd graarg o7 &

(1) o ATl SATART Ud ST

(2) TIEhIETT AT Td ufagr®

(3) o |HTC AT Td ufgra

(4) TIEPIETT ST T FTIrDbI

ffoRed faeram T NaOH Ta HCI &1 faw—fRi=T arsamit
Td 3l & ST 99T T R

60 LM HCI + 40 LMN OH
a.60mL - mL7, Na

b. 55 ML HCI + 45 mL -\ NaOH
-9 ME40 aET

M M
c.75 ng HCI + 25 mL E NaOH

M M
d. 100 mLﬁ HCI + 100 mLﬁ NaOH
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75.

76.

7.

78.

79.

pH of which one of them will be equal to 1? I
(1) d (2) a |
@) b @) c |
On which of the following properties does the|7
coagulating power of an ion depend? |
(1) Both magnitude and sign of the charge on the ion|
(2) Size of theion alone |
(3) The magnitude of the charge on the ion alone |
(4) The sign of charge on the ion alone |
Given van der Waals constants for NH,, H,, O,and CO,| 7
are respectively 4.17, 0.244, 1.36 and 3.59, which one|
of the following gases is most easily liquefied? |
(1) O, 2) H, |
(3) NH, (4) Co, |
The solubility of BaSO, in water is 2.42 x 10 gL~ at| 7
298 K. The value of its solubility product (Ksp) will be
(Given molar mass of BaSO, = 233 g mol™)

(1) 1.08 x 10~ mol?L?

(2) 1.08 x 102 mol?L2

(3) 1.08 x 107" mol?L?

(4) 1.08 x 10® mol?L?

I

n which case is number of molecules of water!' 78.

|

|

|

|

|

|

|

maximum? I
(1) 0.00224 L of water vapours at 1 atm and 273 K |
(2) 0.18 g of water |
(38) 18 mL of water |
(4) 102 mol of water |
|

|

|

|

|

The correct difference between first and second order; 7

reactions is that
(1) Afirst-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

The half-life of a first-order reaction does not depend |

|
depend on [A], |

@)

on [A]; the half-life of a second-order reaction does

The rate of a first-order reaction does not depend |

on reactant concentrations; the rate of a |

second-order reaction does depend on reactant |
concentrations |

(4) The rate of a first-order reaction does depend on |
reactant concentrations; the rate of a second-order|

reaction does not depend on reactant |
concentrations |

5.

6.

7.

8
9.

8 9 fhdadr pH, 1 & =1 8ITT?

(1) d ) a

3) b @) c

FrAfeIRae & & PI— 0T W I Bl Fha &l R
Pl B°

(1) 3 & 3T URATT UG 3maer forg M «)

(2) HIA AT B AMHR W

(3) @act AT & I TRHAVT W

(4) DI AT B MY forg W

NH,, H,, O, @1 CO, & foru dr=sy drext Rerieh shear:
4.17,0.244, 1.36 vd 3.59 fay v g | fA=AfaRad o 4
P T AT AT A <A BT el 87

(1) O, @ H,

(3) NH, (4) CO,

BaSO, @1 298 K &R STeT ¥ fderaar 2.42 x 10°gL" 8 |
faeTre o (K,) 1 /1 g1

(f&am a1 € BaSO, @1 HleR ga&dM= 233 g mol™)

(1) 1.08 x 10~ mol2L2

(2) 1.08 x 10-2 mol2L2

(3) 1.08 x 10~ mol?L2

(4) 1.08 x 10 mol2L2

fre Rerfay § STt @ a1l @ wea aifdreraH 27?

(1) 1atmTd 273 KR 0.00224 L 5TeT a1 & forg

(2) 0.18 g a1 & forw
(3) 18 mL < & forg
@) 102 ¥ ot & forg

Yo Bife Td fgdia dife srfifhamen # & fafr=ar &
(1) veM ®Ife &1 Afohar & SIART fhar ST Fahar &;
g Pife & Iffhar o SSRT =) fobar ST At &

T BIfC BT ATATHAT BT 37ef Y [A], TR iR 7781
& ; foxTra ®ife @1 sfifshar &1 sri-smy [A], R R &
T BIfC BT AMATHAT BT T SIABRS BT AGATAT
R R 8T BRAT B; f§ia DIfe o1 i Afshar o1 9w

B RD BT Aradrel R R Har 2

T Pife BT IFfAHAT BT I BN BT ATadIah
R R oxar B; fgdia dife & ififhar &r ar
A BRD B Argdrsl W R 78 Har 2

(2)
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80.

81.

82.

83.

84.

Among CaH,, BeH,, BaH,, the order of ionic characterl 80. CaH, BeH,, BaH,, # 3maf<s yafa &1 %4 &

1S |
(1) BeH,<BaH,<CaH, |
(2) CaH,<BeH,<BaH, |
(3) BeH,<CaH, <BaH, |
(4) BaH,<BeH,<CaH, I

|

Consider the change in oxidation state of bromine | 81.

corresponding to different emf values as shown in the |
diagram below :

1.82V 15V

BrO, > HBrO

> BrOy

Br 1.0652 V

Then the species undergoing disproportionation is

|

|

|

Br, < I
|

(1) Br, 2) Bro; |
|

|

|

|

|

|

|

1.595V

(3) BroO; (4) HBrO

For the redox reaction 8

MnOj +C,07 +H" ——

Mn?* +CO, +H,0

The correct coefficients of the reactants for the balanced

equation are
MnO,

1 2 16 5

2 2 5 16

(

(

C,0> H*

3) 16 5 2
4) 5 16 2
Which one of the following conditions will favour

maximum formation of the product in the reaction,
Ay (2)+Br(g)=——X,(g) A\H=-XkJ ?

1) High temperature and high pressure

3) Lowtemperature and high pressure

8
(
(
(
(4) Hightemperature and low pressure
When initial concentration of the reactant is doubled, | 8

the half-life period of a zero order reaction

(1) istripled
(2) isdoubled
(3) ishalved

(

|
|
|
|
|
|
|
|
|
|
|
|
|
2) Low temperature and low pressure |
|
|
|
|
|
|
|
|
|
|
|
4) remains unchanged |
|

2.
3.

(1) BeH,<BaH,<CaH,

(2) CaH,<BeH,<BaH,

(3) BeH,<CaH,<BaH,

(4) BaH,<BeH,<CaH,

I fay U amw #, dHE @ sifeiiaRor raven #
gRac faff~= faaraer (emf) A4l R gifan Tam 7

1.82V 15V

BrO, > BrOy > HBrO

Br= Br, <

1.0652 V 1.595V

B TR AT | ol 27
(1) Br, 2) Bro;

(3) BroO;
Yefaa faforar
MnOj +C,05 +H" ——

Mn?* +CO, +H,0

(4) HBrO

MnO,  C,0% H*
1) 2 16 5
@ 2 5 16
(3) 16 5 2
@ 5 16 2

aifafrar # frferRed # & - <2 iffeman S
forHfor & forg SeRer @

Ay (2)+By () ==X (g) AH=-XkJ ?

(1) S=a I vd S=d <19
(2) = a9 vd e <9
(3) = A vd Sea <1
(

4) =g A9 U9 94 3@

ST AMDBRD BT URMAID ATl DI AT (BT ST &,
T pIfe AfAfhar & forg sref—amy ®ret

(1) g e 8

(2) grmEae

(3) ST BT '

(4) sruRafdd w&ar g
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85. The bond dissociation energies of X,, Y, and XY are in I 85.

86.

87.

88.

89.

90.

the ratio of 1 : 0.5 : 1. AH for the formation of XY is —|
200 kd mol~'. The bond dissociation energy of X, will be |
(1) 800 kJ mol-' (2) 100 kJ mol-' |

(3) 200 kJ mol-! (4) 400 kJ mol- I

The correction factor ‘a’ to the ideal gas equation| 86.

corresponds to |
(1) Electric field present between the gas molecules |
(2) Volume of the gas molecules |
(3) Density of the gas molecules |
(4) Forces of attraction between the gas molecules |

CN*,CN-,NO andCN
Which one of these will have the highest bond order?
(1) CN*
(3 NO

(2) CON-
(4) ON |

Magnesium reacts with an element (X) to form an ionic | gg,

compound. If the ground state electronic configuration |
of (X) is 1s? 2s? 2p®, the simplest formula for this|
compound is |
(1) MgX (2) MgX, |
(3) MgX, (4) Mg, |

Iron exhibits bce structure at room temperature. Above | 89,

900°C, it transforms to fcc structure. The ratio of density |
of iron at room temperature to that at 900°C (assuming |
molar mass and atomic radii of iron remains constant |
with temperature) is

343 43
(1) N ) 392
3
o 2 @ 5

Which one is a wrong statement?
(1) The electronic configuration of N atom is

PtttV

(2) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers

(3) Total orbital angular momentum of electronin ‘s’
orbital is equal to zero

(4) The value of mfor d2is zero

|
|
|
|
|
|
|
|
|
|
1s* 2% 2p;2p§,2p§ |
|
|
|
|
|
|
|
|
|
|

Consider the following species : I 87.
|
|
|

X,, Y, 3R XY @1 ey faares sofferl @1 srgurd
1:0.5: 18 XY & foRa & T&iadl AH = —200 kJ mol-'
2| X, @Y 37rder fader ot grft

(1) 800 kJ mol-’ (2) 100 kJ mol-’

(3) 200 kJ mol-’ (4) 400 kJ mol-’

areel 9 HHRT H HE YU ‘@’ Heerd ©

(1) 1 ool & weg Suferd figq—ed

(2) i 37Ul & SIAd o

(3) I 3rUpsll & w@ A

(4) i SRl & wed SMBYT Wit

Freaferad wfefisr W ReR Ao -

CN*,CN-,NO and CN

g9 ¥ fHgd Swaay ey dife 87

(1) CN (2) CN-

(3) NO (4) CN

AR T e (X) & T e e airfies Afi
AT 8 | A (X) BT freTerd sraver H seidagii+e fa=ard

182 282 2p3%, A1 34 AT & AT G 2

(1) MgX (2) MgX,

(3) Mg)X 4 MgX,

JMRA B X & a4 W bee WA 8l © | 900°C &
R I8 fec AT # uRafiid &1 9l 8 | 3R & B
& 19 WR G Bl 900°C A9 UR =ed 3 AU BT (AT

ST TR BT HIGR S Td URATY] (357 A9 & 612l
RerR ?)

3.3 43
LN @ 302
3
o 2 @ 5

frfaRad 5 | SH—1 B I 87
(1) N WRHATY &1 Seiacii+e fa=ara

1s¥ 8¢ 2p;2p§,2p§

telteiftfrle]®

(2) UH HeIdh O daieH ARl W fAfde € Safes 1h
TR H U Solagie IR qaieH wemst 9 e ¥

(3) ‘S HeTH H FoIdL I BT Bl HeTdh DI HT I &
TR T |

(4) d27 forg m &1 7 T ©
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91.

92.

93.

94,

95.

96.

97.

98.

Oxygen is nof produced during photosynthesis by | o1.
(1) Cycas
(2) Nostoc I
(3) Green sulphur bacteria |
(4) Chara |
Double fertilization is: | 92.
(1) Fusion of two male gametes with one egg |
(2) Fusion of one male gamete with two polar nuclei |
(3) Fusion of two male gametes of a pollen tube with |
two different eggs |
(4) Syngamy and triple fusion
Which one of the following plants shows a very close| 93.
relationship with a species of moth, where none of the |
two can complete its life cycle without the other ? |
(1) Banana (2) Yucca |
(3) Hydrilla (4) Viola |
Pollen grains can be stored for Several years in liquid I 94.
nitrogen having a temperature of |
(1) —196°C (2) —80°C |
(3) —120°C (4) —160°C |
Which of the following elements is responsible for| 95.
maintaining turgor in cells ? |
(1) Potassium (2) Sodium |
(3) Magnesiun (4) Calcium I
What is the role of NAD" in cellular respiration ? | 96.
(1) Itis anucleotide source for ATP synthesis. |
(2) Itfunctions as an electron carrier |
(3) It functions as an enzyme. |
(4) ltisthe final electron acceptor for anaerobic |
respiration |

In which of the following forms is iron absorbed by plants I 97.
(1) Freeelement |
(2) Ferrous :
(3) Ferric |

|

|

|

|

|

|

|

|

|

(4) Bothferric and ferrous

Which of the following is commonly used as a vector, 98.

forintroducing a DNA fragment in human lymphocytes?

o

fH UBTI—TeIvoT H STaR{ToTT w8l dbercl?

(1) Ay

(2) ¥R<(®

(3) W Aewr daIRar

@) a3

TIE™T == r '

(1) & R JHBRI BT TS AS B AT Held"

(2) UP TR AP BT al dI Dbl & AT A

(3) TP WRIT el & QI 7R JTDI BT &I = 3igl & AT
NEDE

(4) TP I R e

frfalad § & SH—31 YISy a9 &I Tdh SIIfd & a1

T frehe | gl B, foRe &g 1 Ua—gar @ foeT

AU ST =sh qof &1 PR FhalT?
(1) P (2) gt
(3) ®rEfyaT (4) aniren

URIT Ul BT 98 A 991 & fof 59 AIggio 3 b dro|e
R WUSRYT fHaT ST HadT 87

(1) —196°C (2) —80°C

(3) —120°C (4) —160°C

frmfafed 3 & S—a1 aa BT # W T1g @
% foy STRerT 27

(1) ureRrH (2) AfsTm

(3) #HHIRRM (4) dfezrm

BRI vaa= § NAD* @t sfAaT a1 87

(1) I8 ATP |ZamoT & foly U& <JfIeriicrss &I B |
(2) UE Uh SISl 8D B ©U H B el 2 |

(3) UE TP TllsH & wU H B Il & |

(4) TE @Ay vawe & forg rf<aw geragl= TTEr B |
UTEUl §RT WAI8 Bl Jfayor fFferad # 4 fod wu o
BICT 87

(1) g T

(2) v

(3) BRP

(4) ®R® SR B <l

A9 dAIBIY] § DNA & UP Ths & ded & forg
frferRad o | IF—A1 Jaex AMRIG: Tgad BT S
87

(1) Aphage (2) Tiplasmid (1) A (2) Ti wiiee
(3) Retrovirus (4) pBR322 (3) YSTaTERd (Ue9 aieRe)  (4) pBR 322
|
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99. Use of bioresources by multinational companies and | 99.

100.

101.

102.

103.

104.

105.

organisations without authorisation from the concerned |
country and its peoople is called |
(1) Biodegradation (2) Biopiracy |
(3) Bio-infringement (4) Bioexploitation |

In India, the organisation responsible for assessing the | 190,

safety of introducing genetically modified organisms
for public use is:
(1) Research Committee on Genetic Manipulation I
(RCGM) |
Council for Scientific and Industrial Research |
(CSIR) |
Indian Council of Medical Research (ICMR) |
Genetic Engineering Appraisal Committee (GEAC) |

@)

3)
)

The correct order of steps in Polymerase Chain| 101.

Reaction (PCR) is: |
(1) Denaturation, Extension, Annealing |
(2) Annealing, Extension, Denaturation |
(3) Extension, Denaturation, Annealing |
Denaturation, Annealing, Extension |
|
|
|
|

(4)

Select the correct Match:

(1) T.H.Morgan — Transduction

(2) F,xRecessive parent - Dihybrid cross

(3) Ribozyme — Nucleic acid

(4) G. Mendel —Transformation |

ISR HHRAT AR AT gRT (AT T2 A1 IHS AR
DI ST ST & STadArEHl & SUINT DI a7 HET STl
87

(1) Sla—emuee+ (2) SIS TRYA)
(3) Sa—SeetEd (4) Sta—ior

[rAS® ITWN & oy smgaRied: wuidRd Sial &
UacE @ IR H GRETT & JAIb B fol¢ AR H HI—aT
Wi STRar) 87

1) 3MgafRred gR=ETer srg4em |fifd (RCGM)

(
(2) derfeies Td SN FgEaR yRyg (CSIR)
(3) YRR YA rgHem uRvg (ICMR)

(4) 3fgd e AT Hedieh A (GEAC)

uiferRst sfEar siffhar (PCR) 3 aRvI &1 |el %4 T
2?

o o

(1) faspciresror, favaRor, arier
(2) ariret, favRoT, fadhdinror
(3) fawRor, faapciiepRoT, arier

@) faegpcirevor, ariler, fawdrol

102. |E gHel Pl AU
(1) AgdArE — UREHHOT
(2) F, x 3ordl ST — fgax
(3) I=dIaSH — JJfaeTdh 3T
@) ShAsa — HUTIROT

A ‘new variety of rice was patented by a foreign company | 103,

though such varieties have been present in India for a |
long time. This is related to: |
(1) LermaRojo (2) Sharbati Sonora

(3) Co-667 (4) Basmati

Which of the following pairs in wrongly matched?

(1) XO type sex : Grasshopper
determination

(2) ABO blood grouping : Co-dominance

(3) Starch synthesis in : Multiple alleles
pea

(4) T.H.Morgan : Linkage

Select the correct statement:

(™
@)

Spliceosomes take part in translation.
Punnett square was developed by a British
scientist.

Franklin Stahl coined the term “linkage”.
Transduction was discovered by S. Altman.

3)

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
) :
|
|

1

1

04.
05.

U s 0 gRT 91d9al & U A3’ fhd &l ue=e
(Tava) forar TTar o, Tefd QY e R A o T |
faem= 2 | g fhas awfd 87

(1) <l IS (2) & AART

(3) Co-667 (4) IR

ffaRed § § s=—a1 I Tad wu | gaferd 2?

(1) XO uaR foit feiRor : feser

(2) ABO Yad HqE . G
(3) ¥R ¥ e HYAWU : ggfddhed]
@) Aya. "9 : BT
R BT Bl gAY

1) TSR IR0 | A1 ofd & |

2) oI 99 U fafeer Jenfe gRi fawia fasar T e |
3) AT ¥e &I AT haferd W 7 favar
4) TRIHHAYT DI WIoT U4, lecH o @F oY |

(
(
(
(
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106. The experimental proof for semiconservative replication I 106

107.

108.

109.

110.
11.
112.

113.

114.

of DNA was first shown in a

(1) Plant (2) Bacterium I
(38) Fungus (4) Virus |
Which of the following flowers only once in its life-time ? | 107.
(1) Mango (2) Jackfruit |
(3) Bamboo species  (4) Papaya
Offsets are produced by: 108
(1) Parthenocarpy (2) Mitotic divisions
(3) Meioticdivisions  (4) Parthenogenesis

109.

|

|

|

|

|

|

Select the correct match: |
(1) Matthew Meselson — Pisum sativum |
|

|

|

|

|

(1) the range of temperature that the organism needs
tolive

the physical space where an organism live

all the biological factors in the organism
environment

the functional role played by the organism where

it lives

and F. Stahl
(2) AlfredHershey and —TMV
Martha Chase
(3) Alec Jeffreys — Streptococcus pneumoniae
(4) Francois Jacob and — Lac operon |
Jacques Monod |
Which of the following has proved helpful in preserving | 1
pollen as fossils ? |
(1) Oil content (2) Cellulosic intine |
(3) Pollenkitt (4) Sporopollenin |
Natality refers to: : 1
(1) Number of individuals leaving the habitat |
(2) Birthrate |
(3) Deathrate |
(4) Number of individuals entering a habitat |
World Ozone Day is celebrated on: |1
(1) 16" September 2) 21 April |
(3) 5" June (4) 22" April I
Which of the following is a secondary pollutant | 1
(1) SO, () co, |
(3) CO 4) O, |
Niche is: I 1
|
|
|
|
|
|
|
|
|
|
|

10
1"

12.
13
14

NEET-2018/Code #AA
. SIUAT & EwRell uiieft BT grifie uHIeT Hauerd
o™ qertar T orr?
(1) ureg ¥ (2) Sirarop
(3) s # (4) fourop %
freferiRad # 3 fordd S9@ STiad &1l § $ad Udb dR
B g BT 57
(1) ™= (2) dcaat
(3) S el (4) wdic
. JihdeH” fhds gRT SwIfed 8Id 87
(1) 3FvPHd gRT (2) AT 99 gRT
(3) G favoM gRT (4) NSO gRT
|E g Bl gy
(1) HoY 99 3R — UIsHH Aegad
Uh. ¥Clgcd
(2) e 7 3R SR
A1t O
(3) UoId ST — R CIPIHT <A
(4) W SHhg AT — ol 3MURA
S AT

. F=ferRad # | SIH—1 WRIT BT Sared) & wy § glRRferd

BR H FETID AT garT?

(1) el rayq (2) AJA™ 1T T AT
(3) W fdhe (4) R

. weferd & T sy 27

(1) 3Mmard BT Bl dTel AfeAl &) H@

(2) e

3) TIR

(4) TEH A W Al & 3 aTell Y H&
faeg N9 feaw ®e 79T ST 27

(1) 16 R (2) 213da

(3) 53T 4) 223

. fr=foRea # & s9—w1 & fedas ugus 27

(1) SO, ) Co,

(3) CO 4) O,

. foa w 2?

(1) YA BT 98 IR SI Siid &l ¥8q & forg =nfay
(2) 9 Wi 3 ST Tdh ST Y&dT §

(3) SNa & ggieRer § 9 Sifdd dR®

T NG §RT (TS TS Briciss AT, S8t 98 el 8
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Date: 06.05.2018 NEET-2018/Code #AA
115. What type of ecological pyramid would obtained with 115, freferfe Jffepel & frd R &1 aiRRerfaaa fikfis

the following data ? I ur fdam SIrgar?

Secondary consumer  : 120 g | IEGIRCASEEICS] 11209

Primary consumer :60g | grIfids SuHTeT :60g

Primary producer :10g | qrIfeh IUGH :10g

(1) Upright pyramid of numbers | (1) < &1 der fiRkfrs

(2) Pyramid of energy I (2) ot &1 fIRfAs

|

116.

17.

118.

119.

120.

121.

122

123.

2)
(3) Inverted pyramid of biomass
4)

(4) Upright pyramid of biomass |

In stratosphere, which of the following element acts as | 116.

a catalyst in degradation of ozone and release of |
molecular oxygen ?
(1) Fe

(3) Carbon

(2 Cl
(4) Oxygen

The two functional groups characteristic of sugars are: | 1

(1) carbonyl and phosphate

(2) carbonyl and methyl

(3) hydroxyl and methyl

(4) carbonyl and hydroxyl

Which among the following is not a prokaryote ?
(1) Nostoc

(3) Saccharomyces

|

|

|

|

|

|

|

|

|

(2) Mycobacterium I
(4) Oscillatoria |
The Golgi complex participates in: |
(1) Respiration in bacteria |
(2) Formation of secretory vesicles |
(3) Fatty acid breakdown |
(4) Activation of amino acid |
Which of the following is not a product of light reaction I
of photosynthesis ? |
(1) NADPH (2) NADH |
(3) ATP (4) Oxygen |
Which of the following is true for nucleolus ? |
(1) lttakes partin spindle formation. |
(2) Itisamembrane-bound structure. |
(3) Larger nucleoli are present in dividing cells. I
(4) ltisa site for active ribosomal RNA synthesis. |
Stomatal movement is not affected by: |
(2) Light |

(4) CO, concentration I

|

|

|

|

|

(1) O2 concentration
(3) Temperature

The stage during which separation of the paired ! 123.

homologous chromosomes begins is:
(1) Diakinesis
(3) Pachytene

(2) Diplotene
(4) Zygotene

(4) StETAT BT e IR

FHATIHSE H, 3T & [JddIbRoT 3iR 1foaeh SffaiIoT
! fagfaa @ fFraferRaa § & SiF—d1 I SRS & WU
# &1 P 2?

(1) Fe 2) Cl

(3) re 4) sifafom

IHRT & &I JAMTALATD BrATHAD T8 PIT—H &7

(1) HEA IR BRbE

(2) ratfet MR Ay

(3) ETgsIfRTe 3R Afret

@) eI IR g Sifada

fr=feRaa # & S v gdasa! a1 27

(1) +R<rt® (2) AEPEFIRTHA
(3) JARHREST (4) 3itRerciRar
ool Ity fohad vrT ordr 27

(1) Siarogit ¥ vaa H

(2) S gfewra & qar |

(3) a9 3 & IUECH H

4) VAET e @ afshaor #

frfaRead § 9§ S9—1 TH ISHR—[IATT B UPHI]
afafera &1 Saare T8 27

(1) NADPH (2) NADH

(3) ATP (4) Oxygen

afvge & forg m=faRad @ & da—ar 9g1 22

(1) I8 P 97 | 9T oIl 2 |

2) Uz Ry & fory <&ar 21

() fofad gl SIfERT # a8 dfws 8d 2 |

(4) TE gaNIa RNA Heaiyor &7 foharefia vere 2 |

122. =<0t 1 Tfeierar feasy garfag <TE) g1c?

(1) O2dfgar | (2) BT A

(3) AT | (4) CO, Hiadm &

JRAT AT ORLAT BT YAFHROT {5 UTaReT H IR+
I 87

(1) urTfcrshA
(3) ¥eIdE

(2) fgue
(4) gmHuE

D Ta_rgetPMT Contact No

Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058

011-41024601-05

excuuswewy ror menicaL enrance | E-maail : info@targetpmt.in

Website : www.targetpmt.in

Page No#23




Date : 06.05.2018 NEET-2018/Code #AA
124. Stomata in grass leaf are: I 124. =79 P U=H H 7 DA B 57
(1) Rectangular (2) Kidney shaped | (1) SMIATPR (2) JIPTPR
(3) Dumb-bell shaped (4) Barrel shaped | (3) SIABR (4) QIADIBR
125. Secondary xylem and phloem in dicot stem are| 125. f&dsTa=l T # feciiad STge™ SR Frgd fbea’t Sca=1
produced by: | B 87 |
(1) Phellogen (2) Vascular cambium I (1) BT (2) HagT wer
(3) Apical meristems  (4) Axillary meristems | (3) iRy fawrsy (4) it forrsa
126. Pneumatophores occur in: | 126. AT fad BT 87
(1) Carnivorous plants | (1) BRI gl |
(2) Free-floating hydrophytes | (2) AT A H
(3) Halophytes | (3) eravERIgHAg A .
(4) Submerged hydrophytes | @4) ST 7 Sargirg H®
127. Casparian strips occur in: I 27. HER) ufedl Hal Bl 87
(1) Cortex (2) Pericycle | (1) T (2) ol
(3) Epidermis (4) Endodermis | (3) drErcd=n . (4) ST
128. Plants having little or no secondary growth are: | 128. a8 ey DI & o7 fgdlias gig oSt a1 fdegel 18!
(1) Conifers | Bl %\’.?
(2) Deciduous angiosperms | @) 5 : ?E Ao
(3) Grasses | 3) =
(4) Cycads | @) aTzDhsa
129. Sweet potato is a modified: | 129. IHIPE [HhadT HATRIT 87
(1) Taproot (2) Adventitious root | (1) e HA (2) STuReATDS He
(3) Stem (4) Rhizome | 3) o 4) ude
130. Which of the following statement is correct ? I 130. fa=falRag & 4 B—a1 B9 HaT 27
(1M Horse.talls a.re gymnosperms . o | (1) ERRe G{ﬂlqdeﬂ\rﬂ 3
(2) Selaginellais heterosporous, while Salvinia is | - o
homosporous | (2) AR g f[AvHdIST] a1aT &, STafd dediran
(3) Ovules are not enclosed by ovary wall in | T FHATSIY] T © |
gymnosperms | 3) SMgAdITl # diomve sverR kT gRT uReg
(4) Stems are usually unbranched in both Cycas and | ® ¢ .
Cedrus | (4) ZHH IR Rigw T H ARG I+ SRMRId 81 &
131. Select the wrong statement: | 131. Toid P @ g
(1) Pseudopodia are locomotory and feeding | (1) TR # UIeTH Tl iR Wrer T80T R Bl
structures in Sporozoans I AN 2 |
(2) Mushrooms belong to Basidiomycetes | (2) BB BT T SRASAAERET TR |
(3) Cell wall is present in members of Fungi and | (3) PHadi 3R UIGT ST & AedT H Hifdrar My SuRkerd
Plantae | BT 2|
(4) Mitochondria are the powerhouse of the cell in all | (4) FIFRT BT BISHR T SHASHTGT BT DIRNBT ¥ GABOTHIE

132. After karyogamy followed by meiosis, spores are | 132.

kingdoms except Monera |

produced exogenously in:
(1) Agaricus (2) Alternaria
(3) Neurospora (4) Saccharomyces

T RIS & |
Fr=TfeTRad H U e dradbddd a1 RGeS &
qeaTd dIoTY] gerelid wd H I~ 8Id 57
(1) TRew (2) sfreeHRar
(3) RRRERT (4) ABRHATSAS
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133. Match the items given in Column I with those in | 133.
Column II and select the correct option given below: I
Column-I Column-II |

a. Herbarium i. ltisaplace havinga |
collection of preserved |

plants and animals. |

b. Key ii.  Alistthat enumerates |
methodically all the |

species found inan area I

with brief description |

aiding identification. |

c. Museum iii. |saplace wheredried |
and pressed plant |

specimens mounted on |

sheets are kept. |

d. Catalogue iv. A booklet containing a I
list of characters and |

their alternates which |

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

are helpful in
identification of various
taxa.
a b c¢c d
(1) i v i i
@ ii i i W™
@ i v i i
@) i v o0 i
134. Winged pollen grains are present in: 134.
(1) Mango (2) Cycas
(3) Mustard (4) Pinus
135. Which one is wrongly matched ? 135.
(1) Gemma cups — Marchantia

(2) Biflagellate zoospores — Brown algae

(3) Uniflagellate gametes  — Polysiphonia

(4) Unicellular organism — Chlorella |

136. Which of the following options correctly represents the | 136.

lung conditions in asthma and emphysema, respectively

(1) Increased respiratory surface; Inflammation of |
bronchioles |

(2) Increased number of bronchioles; Increased |
respiratory surface |

(3) Inflammation of bronchioles; Decreased respiratory |
surface |

(4) Decreased respiratory surface; Inflammation of |
bronchioles I

IR [ H ) TS AT BT R [ BT F81 3 AT ST 3iR
I fov U fawent § | 98 fadeu o1 waw ST -

- TA-I1
a. URderd i, ORI uredl SR STl
% HUB B U UM |
b. @Sl ii. P & | ug TS W
Sfat @ fafergdes TomET
PRI U 3R D! Ugad
DI G & forg dfeda
o FRd Y TP Gl |
c. WUB™ jii. AT AT TR urey FA
DT GUTPR AR TGTHR T
R SRIT B T ST & |
d. TeRE iv. T gReTepT ST ferof oo
(PeTat) 3R & fadmey 810 & o
fAf=T et 61 gga v
# eI B T |
a b ¢ d
A i v i
2 i i v
@ i Wi i
@ i v i
YL IRITHT foherdt BTt 27
(1) (2) wrEHA
(3) @ (4) urgT™
ffalRed § § s=—a1 Taaq wu § gafera 87
(1) </ art — AR
(2) fepanfied Ferdromy e AREI]
(3) UdpdINWD JHD — diferaTswIfaT
(4) TDHDIAD Sia — FARET
fr=faRad # & -1 faded s <A1 3R arawmifa
H el @ S Bl Sfad wY A ST 272

(1) ol g H Srfdradr; e # oy
(2) IgAfIET D G H AfHAT; TaE! Aag | SrfSdar
(3) Tawif-repT H ey, Tav WAcE H B

(4) TaA AAE H HHY TaadT | oY
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137. Match the items given in Column | with those in Column | 137. =T®1 | # <1 778 #al & ™ || 31 A&l A fa™ Biorg ik

138.

139.

140.

141.

Il and select the correct option given below:

Columnl Column i
a. Tricuspidvalve i Between left atrium
and left ventricle
b  Bicuspid valve ii. Between right ventricle
and pulmonary artery
c. Semilunarvalve iii. Between right atrium
and right ventricle
a b c
(1 i Qi i
@ i i i
@) i i i
@) i i i

Il and select the correct option given below:
Column i

2500-3000 mL
1100-1200 mL

Columnll

a. Tidalvolume i

b. Inspiratory Reserve .
volume

c. Expiratory Reserve jii. 500-550 mL
volume

d. Residual volume iv. 1000-1100 mL
a b ¢ d

(1 i v i

(2) iii i v

(3) i i i v

(

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
Match the items given Column | with those in Column I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
4) v i di i I

The transparent lens in the human eye is held in its| 139.

place by: |
(1) smooth muscles attached to the iris |
(2) ligaments attached to the iris |
(3) ligaments attached to the ciliary body |
(4) smooth muscles attached to the ciliary body |
Which of the following is an amino acid derived hormone ? I
(1) Estradiol (2) Ecdysone |
(3) Epinephrine (4) Estriol |
Which of the following hormones can play a significant |
role in osteoporesis ? |
(1) Estrogen and Parathyroid hormone |
Progesterone and Aldosterone |
Aldosterone and Prolactin I
Parathyroid hormone and Prolactin |

|

@)
3)
)

138.

14

140.
1.

I fov U fawedl § & @al fAbey &1 wae ST ¢

e | w9 I
a. g sure i @ el vg A e
@ 9
b fgacri wure jii. <rfe fera ud pugeiy
gal &
c. U= pufedT i, <fe sifel va a1t e
@ 9
a b c
Ay i i il
@ i i i
@) @i i i
@ i i il

AR | H & 718 A7l &1 W=7 1 B 7 3 ™ S o

I 3y 7Y fadedi § | 9E fadeq &1 a9 IR 3R

W T v el # W e fAwmey &1 waT B
T | ¥ |l

a. SR IAMIaH i. 2500-3000 A,

b. ofT: wgdd i@ i, 1100-1200 fe.
KIRGE]

c. Tizaws gRiga jii. 500-550 fA.e.
NIRGE]

d. IfaRTe I iv. 1000-1100 f..
a b ¢ d

(1) i v i

@) i i i

@) i i i W

@) v i Qi

AT 3 H TR o [ §RT U+ R WR &1 57
(1) msRE & FE o uRRml gy

(2) omeRe & gs wgelt g

(3) UEHAM™ B ¥ IS FY3N FRT

(4) T B W ST R Ul gIRT

fereaferae 3 1 ei—am i VAT 3t | Y= el 87
(1) wxsfesita (2) vdSTSHIA

(3) vl (4) uRkgaifer
Pt 3 & fpet 2T 1 arRergRivaT ¥ e wfivar

1) TS UF IRRITSRIES B
TIORERI UG VoS IReRIH
VeSIRIeRIH Ud Yreifde
IRTerERISS B Ud Ulelfded
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142. Which of the following structures or regions isI 142, fr=frRad # I 91 AR 1aT &5 9D B |

143.

144.

incorrectly paired with its function ? |

(1) Hypothalamus production of releasing |
hormones and regulation |
of temperature, hunger |
and thirst. |

(2) Limbic system consists of fibre tracts |

that interconnect |

different regions of brain; I

controls movement. |

controls respiration and |

cardiovascular reflexes. |

band of fibers connecting |

left and right cerebral |

hemispheres.

The amnion of mammalian embryo is derived from

(1) mesoderm and trophoblast

(2) endoderm and mesoderm

(3) ectoderm and mesoderm

(4) ectoderm and endoderm

(3) Medulla oblongata

(4) Corpus callosum

pregnancy are:
1
@
(3)
4)

hCG, hPL, progestogens, estrogens

hCG, hPL, estrogens, relaxin, oxytocin

hCG, hPL, progestogens, prolactin

hCG, progestogens, estrogens, glucocorticoids

1

1

43.
44,

145. The difference between spermiogenesis and, 145.

146. The contraceptive ‘SAHELI’

spermiation is:

(1) Inspermiogenesis spermatozoa from Sertoli cells |
are released into the cavity of seminiferous tubules, |
while in spermiation spermatozoa are formed. |
In spermiogenesis spermatozoa are formed, while |
in spermiation spermatids are formed. |
In spermiogenesis spermatids are formed, while I
in spermiation spermatozoa are formed. |
In spermiogenesis spermatozoa are formed, while |
in spermiation spermatozoa are released from |
Sertoli cells into the cavity of seminiferous tubules. |

|
|
|
|
|
|
|
Hormones secreted by the placenta to maintain|
|
|
|
|
|
|
|
|

isan |UD.

increases the concentration of estrogen and
prevents ovulation in females.

blocks estrogen receptors in the uterus, preventing
eggs from getting implanted.

is a post-coital contraceptive.

(1)
2)

|
|
|
© l
|
|

)

| 146.

NEET-2018/Code #AA

Terd w9 ¥ YA 27

(1) ESUReHd farae 2T 1 SereH
T TIHT, Y AT T
BT =0T HRAT |

(2) feifdd o= dqell & & S ARass &
fafa=1 &3 oI 3T  SirecT
2; TfY 1 =0T BRAT |

(3) HIT JATeANICT YA U9 gad URAART
gRaar BT AT BT |

(4) DIdd Dol a g ad yuRash
@1 Tel |

T YOT BT YoraTad f3reel] Sedl fbed aeiell & ?

(1) AEISER U4 UIYhRd

(2) AT Td HEGOTARINY

(3) STEITdT YT HEGSTIRCIR

(4) eI Ud A

TTHAT BT g7 Y@ & FoTT IIRT HIH— e

P B2

(1) hCG, hPL, UIsi¥elsid, T

(2) hCG, hPL, TxgIo, Retfdwd, siffaaeig

(3) hCG, hPL, UoReoH, Areifde

(4) hCG, UIoR<IoH, TREISH, Tefdlbiichigs

YHTULSTAA Td YhTUA (WRITRE) H RIT A=<R 87

(1) BIISTAA H YEHIORAT BT FTel DIRIBTST H Yehoridh
AAfCrepIatl 1 YfeHT H HIeM BIAT €, Sidid YR o
IETY] T 2 |

EPTUSTT H YpTY SIcT 8, STaf YepTopa H Fepror
R

YEHIOLSTT H IEHIVERY I &, STafdh IV H
IETY] T 2 |

YEHIVST ¥ I Il B, ST YEhTURI H LhTofail
BT Hlell BIRTHISN H YehoTAd ATDBIA DI fEPT
# Ao BT 2 |

TR el

(1) T® IUD?|

(2) wERN # WA & digdl &I deNdl & Yd eIt
BT Al 2 |

TR # WIS T8I Bl awg dcll & Ud IS &
T BT el B |

T Tea—HA THARITS 2 |

)

)
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147.

148.

149.

150.

151.

152.

153.

154.

Ciliates differ from all other protozoans in:
(1)
2

using pseudopodia for capturing prey |
having a contractile vacuole for removing excess |
water

using flagella for locomotion

having two types of nuclei

3)
)

Identify the vertebrate group of animals characterized | 148,

|

|

|

|

by crop and gizzard in its digestive sytstem. I
(1) Aves (2) Reptilia |
(3) Amphibia (4) Osteichthyes |
Which of the following features is used to identify a|
male cockroach from a female cockroach ? |
(1) Forewings with darker tegmina |
(2) Presence of caudal styles |
(3) Presence of a boat shaped sternum on the 9th I
abdominal segment |

(4) Presence of anal cerci |
Which one of these animals is not a homeotherm? |
(2) Chelone |

(4) Psittacula I

|

|

|

(1) Camelus
(3) Macropus

Which of the following animals does not undergo; 151.

metamorphosis ?
(1) Moth
(3) Earthworm

(2) Tunicate
(4) Starfish

Which of the following organisms are known as chief | 152.

producers in the oceans ? |
(1) Cyanobacteria (2) Diatoms |
(3) Dinoflagellates (4) Euglenoids |

Which one of the following population interactions is | 153.

widely used in medical science for the production of|
antibiotics ?
1
2
3)
(4)
All of the following are included in ‘Ex-situ conservation’
except

(1
(2) Sacredgroves

(3) Wildlife safari parks
(4) Seed banks

Parasitism
Mutualism
Commensalism

Amensalism

Botanical gardens

14

150.

| 147

|
|
|
|
|
|
I 154.
|
|
|
|
|
|
|
|
|

9.
0

. foferves e Wit Uiesilemt & fd uaR fae 272

(1) 3 RIPR &I gbed & oy U™ BT YANT &d &

) s sifaRad ar ®r e @ fog daqameid
CIEIRSGI

(3) A T & oIy HEMHABT BT YA Hd &

4) 39 TV UPR B H=d BT &

TR TS S I S=q3il B Jgd PO Sl 370+

UraE d9 ¥ B9 Ud fiore gRT Sifieifard 2 |
(1) (2) <iferar
(3) Ufepfaar 4) iReaei

frferRad # | HI— F&I0T R BIBRIa BT ugard AIGT
BIBRId I PR 87

(1) &} YOR 385 Afed 3T UG

@) o T B SuRaf

(3) A SR W W AT B AMMHR Bl AR D1 IuReafay
(4) T B SRR

frfaRad § & H9—ar1 SI=g T T2 27

(1) &A™ (2) dHra

(3) s (@) g

frferRaa Sgall § ¥ BI—W ST HIITAROT 81 B ?
(1) (2) =yfiae

(3) g (4) WRH

fFrfoRad % & SI— Siig HeNrRI § & e d &
®Y H S SId 87

(1) ArRAEREr (2) S

(3) SHFIGNIicd  (4) TelTESE

fferRaa & & fafecar fasm & ufooifas @ ST ©

forg wmfte &1 P TRwaRa fohar agem TanT @) ot
27

(1) RHfaar

(2) \EHHINAT

(3) HEwIRTar

(4) wH=AferSH

frrferRaa o | I—AT IR HRET’ § T AT?
(1) arRufrs e

(2) ufdx Sy

(3) TU—SId AHRI U

@) 9T b
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155. Match the items given in Column | with those in Column | 155. ¥¥ | # <1 775 #al &I ¥ || &1 Aal 9 A $ifoy

156.

157.

158.

159. A woman has an X-linked condition on one of her| 159.

160. According to Hugo de Vries, the mechanism of | 160.

Il and select the correct option given below:

Columnl Column i
a. Eutrophication i. UV-Bradiation
b. Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient enrichment
d. Jhum cultivation iv. Waste disposal
a b ¢ d
(M i v ii
(2)
3) i i i v
@) i i v i

In a growing population of a country:

(1) reproductive and pre-reproductive individuals are
equal in number.

(2) reproductive individuals are less than the post-
reproductive individuals.

(3) pre-reproductive individuals are more than the
reproductive individuals.

(4) pre-reproductive individuals are less than the
reproductive individuals.

|
|
|
|
|
|
|
|
|
|
|
| i v Il |
|
|
|
|
|
|
|
|
|
|
|
|
|

Which part of poppy plant is used to obtain the drug. | 157.

“Smack” ?
(1) Roots (2) Latex
(3) Flowers (4) Leaves

All of the following are part of an operon except:
(1) anenhancer
(3) anoperator

(2) structural genes
(4) apromoter

X-chromosomes. This chromosome can be inherited |
by:

(1) Only grandchildren

(2) Only sons

(3) Only daughters

(4) Both sons and daughters

(1) Phenotypic variations

(2) Saltation
(3) Multiple step mutations
(4) Minor mutations

|

|

|

|

|

|

o |
evolutionis: |
|

|

|

|

|

|

|

|

|
|
|
| 158.
|
|

IR T ey U fddmedi § W &1 fAdhed &1 au= B :

A | R RN

a. gdmor i UV-B fafdseor

b. A clsithat ii. A
fewTeraT iii. O Ty
(T =ESTH)

d. sHR iv. 3URTE Auem
a b ¢ d

(1 @i Vo0

@ i i v

@) i i i

@ i i

. TP < P gedl g o |

(1) STHeM Ud SFYg Afte AT H SRR B © |

(2) SN @fte THERR Afedl | HH B B |

3) SHYd afte Seem @fted & «1fde BT 7|

(4) <Y @fte STH+eM Aftedt § w9 8 ¥ |

Hep” b SO AT 9 & fba 9T I e 2l 22

(1) <Terd (2) <lca |

(3) wHel | (4) ufrdr <y

ST A DI MR BT AT 8] 87

(1) TERR (2) AREIHS SiF
(3) D @) S~TID

T I & T X-TTORG H X-Jieh= Favel ¥ | I8 ToRG faei
T BRIT?

(1) Hael dref—afadr / Ari—=for #

(2) @ad gar #

(3) @aa gl #

(4) 9o T g < A

T S A9 & IR fawr o fhanfafd fa v 8t 22
(1) <R g3a ooy uRec (Feroraedl fafi=an)

(2) ST
(3) TGRSR
(4) g SR
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161. AGGTATCGCAT is a sequence from the coding strand I 161. TP S & PIST Tog] BT 7 AGGTATCGCAT 7 | 59d

162.

163.

164.

of a gene. What will be the corresponding sequence of |
the transcribed mRNA ?

(1) ACCUAUGCGAU

(2) UGGTUTCGCAT

(3) AGGUAUCGCAU

(4) UCCAUAGCGUA

Match the items given in Column | with those in Column | 162
Il and select the correct option given below:

Columnl Column i

a. Proliferative Phase i. Breakdown of

endometrial lining

b. SecretoryPhase ii. Follicular Phase

c. Menstruation iii. Luteal Phase
a b c¢

(M @i i i

2 i i

(3) i i i

4) iii i ii

Column Il and select the correct option given below:

Column| Column
a. Glycosuria i.  Accumulation of uric
acid in joints
b. Gout ii. Mass of crystallised
salts within the kidney
¢. Renal calculi jii. ~Inflammation in glomeruli
d. Glomerular iv. Presence of glucose in
nephritis urine
a b ¢ d
(1 i @i v
@ i i i v
@) i i v i
@ v i i i

EIRT 3TgeiRad mRNA &1 Hafdid s+ a1 8RTT?
(1) ACCUAUGCGAU

(2) UGGTUTCGCAT

(3) AGGUAUCGCAU

(4) UCCAUAGCGUA

2, TR | § < IS Hel B WaRT || B Hal I A I @ik
I oy U famedl # W TRl fAdheu &l T BT ¢

™ | ™ |l

a. WW@T i, TR 3T WR BT fdEed
b. A raReT ii. gcHrd uraRel
c. kg jii.  Oafvs greRen

a b c
Ay i i i
@ i i i
@) i i i
@) i i i

. IR WS TS HET BT IR || B HaT 3 e BIfTY 3R <
fau v fadeai § I UE) fAheu &1 T BT :

™ ™
a. TSHRIRAT i, et H gR® I BT IR
BT
b. T=e ii. gap ¥ fheeford aui &
favg
c. gabIg R jii.  [eBT H yaTghdl
(et dewgers)
d TS gaheS iv. T ¥ PN BT BT
a b c¢c d
(M i i v
@ i Qi i W
@) i i Wi
@ v i i i

Match the items given in Column | with those Column II | 164. ¥ | ¥ <1 7T A&l b1 &i™ |1 &1 7l 3 et BTy 3R

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
Match the items given in Column | with those inI 163
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

and select the correct option given below:

Columnl Column i |
(Function) (Part of Excretory System)
a. Ultrafiltration i.  Henle’s loop
b. Concentration ii.  Ureter
of urine
c. Transport of ii  Urinary bladder
urine

|

|

|

|

d. Storage of urine iv. Malpighian corpuscle |

v. Proximal convoluted |

tubule |

c d |

i ii |

i i |
i i

|

iii |

< ITZI<K O
T < TXUT

—~ o~
~
L=

I oy U fapedt # 3 T8 fAdheu &l 7 ST ¢

I | T I
(PT) (TS T BT HT)
a. oo™ wie i, Bl UTeT
b. ¥ &I AiEl ii. v e
c. Ho Bl AMTHET i A
d. T3 &I GUs iv.  HTdRTT BT
v. IR dford ATt
a b c d
M v v i i
@ v 0 i i
@ v v i i
@ v v i i
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165.

166.

167.

168.

169.

170.

Which of the following gastric cells indirectly help in
erythropoiesis ?

(1) Gobletcells

(2) Mucous cells

(8 Chiefcells

(4) Parietal cells

Match the items given in Column | with those in Colum
Il and select the correct option given below:

|
|
|
|
|
nl
|
|
|
|
|
|
|
|
|
|
|

Columnl Column i

a. Fibrinogen i.  Osmotic balance
Globulin ii.  Blood clotting

c. Albumin jii. Defence mechanism
a b c

(1 i i

@) i i il

(3) i i i

(4)

i i
Which of the following is an occupational respiratory I
disorder ? |
(1) Botulism (2) Silicosis |
(3) Anthracis (4) Emphysema |
Calcium is important in skeletal muscle contraction|
because it: |
(1) detaches the myosin head from the actin filament.
(2) activates the myosin ATPase by bindingtoit. |
(3) binds to troponin to remove the masking of active |
sites on actin for myosin. |
(4) prevents the formation of bonds between the |
myosin cross bridges and the actin filament. |
Nissl bodies are mainly composed of: :
(1) Nucleic acids and SER |
(2) DNAand RNA |
(3) Proteins and lipids |
(4) Freeribosomes and RER |
Which of these statements is incorrect ? |
(1) Glycolysis operates as long as it is supplied with |
NAD that can pick up hydrogen atoms. |
Glycolysis occurs in cytosol. I
Enzymes of TCA cycle are presentin |
mitochondrial matrix. |
Oxidative phosphorylation takes place inouter |
mitochondrial membrane. :
|
|
|

166.

167.

168.

169.
0.

17

|165.ﬁmﬁ1®aﬁ@raﬁa—@wﬁ@mﬁw&rw@r

RG-S # AqE HRel 22

(1) B (Mic) IBIY

(2) oI BIfdIHTY

(3) T PRIHN

(4) fxi iRy

XA | ) TS AT BT ' || Y FET I e ST &k
A feu U el # | W& fAdhen &1 TuT BT

I | ™ |l
a.  WIEEeT i IRRRY e
. TR ji. T BT
c. U jii. - AfRe fhanfafy
a b c¢
(M i i i
2 i i i
@) i i i
@) i i i
fr=ferRed & | 2neiie a9+ fAbR BT SETERT R 8 ?
(1) difgfers (2) Riferprerar
(3) VR (4) AR

DpId Wl A H bic Hewyul e I8

(1) Ve g & AR Y BT STl IR a1 2 |

(2) AR TENNST 3 Suax S foharefier axar 7 |

(3) T & o VfdeT & Afhd erel & AR Pl 8T
T & WA & forg |

(4) AR i g SR Ufde g @ Heal 3Te FHioT
AT 2 |

e & fUvs g@=1d : B9 & 8 27

(1) =fdetd 3t Td SER

(2) DNATGRNA

(3) WM wd forfis

(4) o TzaM T RER

ST A DI B TTeTd 82

(1) AEHIIRRT d9 qP BIAT © S ddb 3 eI
AT BT IS @ forg NAD fierr w&dr 2 |

TS HIIRRT PIfIdh faory & Wu= Bl & |

TCA =ish & YTz GABOTRT 3 M= 3 Rerd 8 2 |
SHTFRABRT BIEHIRATHROT GAB VDR o a1 fereett #
Hfed B |

—~
w N
= =

S
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171. Select the incorrect match: 171. Tod AN &1 T ST -
(1) Submetacentric — L-shaped chromososmes
chromosomes (M FTRE -L- IRE
(2) Allosomes — Sex chromosomes 2) M — fofT R
(3) Lampbrush — Diplotene bivalents
chromosomes (3) g TRE: - fove & ge
(4) Polytene — Oocytes of amphibians (4) SgUR TR — VPRI & 3ied
chromosomes
172. FHfaRed 9 9 D1 TIRMINS wes A9a Safd=ard &1

172.

173.

174.

175.

176.

177.

178.

Which of the following terms describe human dentition
1
2
3)
(4)

Thecodont, Diphyodont, Heterodont
Thecodont, Diphyodont, Homodont
Pleurodont, Diphyodont, Heterodont

Which of the following events does not occur in rough | 173.

endoplasmic reticulum ?
(1)
(2)
3)
(4)

|
|
|
|
|
|
|
|
|
|
|
Pleurodont, Monophyodont, Homodont I
|
|
|
|
|
|
Cleavage of signal peptide |
Protein glycosylation |
Protein folding |
Phospholipid synthesis |
to for multiple copies of a polypeptide simultaneously. |
Such strings of ribosomes are termed as: |
(1) Plastidome (2) Polyhedral bodies |
(3) Polysome (4) Nucleosome |

In which disease does mosquito transmitted pathogen | 175-

cause chronic inflammation of lymphatic vessels? I
(1) Ringworm disease (2) Ascariasis |
(3) Elephantiasis (4) Amoebiasis |

Which of the following is not at autoimmune disease? | 176.

Alzheimer's disease |
Rheumatoid arthritis |
Psoriasis |
Vitiligo I

™
@)
3)
)

Among the following sets of examples for divergen’(| 177.

evolution, select the incorrect option: |
(1) Brain of bat, man and cheetah |
(2) Heart of bat, man and cheetah |
(3) Forelimbs of man, bat and cheetah |
(4) Eye of octopus, bat and man I
|
|
|
|

Conversion of milk to curd improves its nutritional value ! 178.

by increasing the amount of
(1) VitaminB,,
(3) VitaminD

(2) Vitamin A
(4) VitaminE
|

Many ribosomes may associate with a single mRNA| 174.

gftfa &=a 87
(1) uredech, ThaRad, FHed

(2) e, fgarRad, f[avaed

(3) TaE, fgaRad, TweE

(4) UTedE, fgared, favaed

% Tereriond eged (RER) # FrafoiRad # 9 SH—
HeAT 8l BIi?

(1) Fod U<ZS Pl fdga

(2) UEH BT TS PINIR

(3) WA @I g

4) HRpIffs ey

T T TSERIF T mRNA ¥ iag 8laR U I Uiferierss
BT D3 U G 2 | ISR DI WAl SRIITSAT DT AT Pl
g?

(1) wnRcsH (2) gy fuvs

3) & (4) bisapr

=T T 3 WeeR gIRT ARG Y] & HRYT RIS i~
¥ feReprel 2T S~ BT 27

(1) a3 (2) WBRURT

(3) uferbfeuf (4) SRR

fAmfeRad # I PF—ARaufoRer T & 872

(1) VeTSIgHR WHT

(2) wHC! Afdremer

(3) AR

4) fafeferm

fFRAT TR faprT & SRRV H 3 Terd fddhed &7 aa+=
PIRTT :

(1) =ETES, A9 U4 il Bl ARkdwh

(2) TGS, AFE Td AT BT g

(3) MG, TGS Ud AIaT Bl UG

(4) Sifaciod, TGS Ud AT Bl g

T & TEI H HURYT A gHD! 6] UG & (B! gig
@ HROT BRI 87
(1) feerf@aB,,
(3) faerf = D

(2) e A
(4) fefe E
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179. The similarity of bone structure in the forelimbs of many | 179. 3@ HIHDHI & JFUTER DT R HATHAT H THAMAT fdeapl

vertebrates is an example of:

(1)
2)
()
)

Convergent evolution
Analogy

Homology

Adaptive radiation

|

I JATER &°

| (1) IR e
l @ gew

| (3) I

| (4) orgapeh fafdo

180. Which of the following characteristics representl 180. FfeiRaT el # I DI —0 A H HER au B

‘Inheritance of blood groups’ in humans ?

a
b
C.
d
e

1

(
)

Dominance

Co-dominance

Multiple dominance

Incomplete dominance

Polygenic inheritance

b,dand e (2 a,bandc
b,cande (4) a,cande

| MIRY BT <20 87
| a. IpIfdar
| b. AR
: c. dg 3ellel
| d. ool seIfdaT
| e. Jgol G
| (1) b, dyde (2) a, bTic
I (3) b,cude (4) a,cude
|
|
Q aQ
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